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Opportunity Cost

BC Football is great fun.  But Paul Solman does not have a ticket to next week’s game.  He figures he can scalp a ticket for $100.  But is that his only cost?  In the video, Paul consults Nobel Laureates Robert Solow and Paul Samuelson (as well as the Boston College football “Eagle”), computes the opportunity cost of going to next week’s game, and decides that the cost is too great.

Choosing is refusing.  As long as resources are scarce, using them one way means that we cannot use them in another.  Time is a scarce resource.  So, part of the cost of next week’s game will be what Paul might do with his time if he does not go.

Opportunity cost is what we sacrifice when we make a choice.  Solman suggests that we can trace the idea of opportunity cost to Benjamin Franklin.  Franklin reasoned that a worker who could earn 10 shillings a day but chose to work but half a day and spend the other half in a pub should reckon the cost of his visit to the pub at what he spent there, plus what he gave up by not working.  Robert Solow says the same principle applies when setting a fee for a guest lecture.  While he will charge what he thinks the market will bear, he will accept no less than the dollar value of the opportunity he gives up to give the lecture.

Paul Solman works out what he could do with the four hours he would spend attending next weeks BC football game.  Solow cautions him that he should not add together the value of all his alternatives because he cannot do them all.  He should count only the value of the alternative he would choose if he decides not to go to the game.  Solman decides how he would use the time, and the value of those activities to him is $200.  He concludes the opportunity cost of the game is $320–$100 for the ticket, $20 for transportation, and $200 for activities he would forego by attending the game.  He decides not to go.

In-Class Activities

Discuss the following questions.  

1. Your friends have proposed that you join them in attending a concert next Thursday evening.  According to Paul Solman and Robert Solow, how should you compute the opportunity cost of attending the concert?

2. Explain why Solman and Solow believe that your opportunity cost is greater than just the cost of your ticket to the concert?

3. According to Solman and Solow, is the time you would spend attending the concert a scarce resource?  Why or why not?

4. Suppose you have decided not to hold a job while in college.  Would Solman and Solow still think your time was scarce?  Why or why not?

5. Does the fact that your opportunity cost for attending the concert is greater than the cost of the ticket mean that you should not go?  If yes, why?  If no, when should you decide to go to the concert?

6. What, according to Solman and Solow, is the opportunity cost of attending college?

7. How should you value your time in computing the opportunity cost of attending college?

8. Does tuition account for all, most, or only some of the economic cost of attending college?

Out-of-Class Activities

1. Calculate the opportunity cost you faced when you decided to attend college and write a report in which you explain how you calculated it.  Along the way, please pay attention to the following points.

1. If you do not already know, find out tuition and fees for four years at your college or university.

1. Decide whether or not you should include tuition and fees in your opportunity cost calculation.  Explain how you made up your mind.

1. If you had not decided to attend post-secondary school, what would you have done with your time?  If your answer is that you would have taken a job, estimate how much you would have made over the four years you attended college.

1. Should you include the cost of meals and lodging in your computation?  Why or why not?  

1. If you had to bear all the costs of attending college yourself, would you still attend college?  If you answer “yes,” explain why you think the benefits of attending college outweigh the costs.  If you answer “no,” explain why.

2. Read Benjamin Franklin’s pamphlet, “Advice to a Young Tradesman,” and write a one-page essay on the theme “Time is Money.” Explain Franklin’s advice using the term “opportunity cost.”

Quiz Questions

1. My favorite candy bars, in order, are Snickers, Mounds, Milky Way, and Almond Joy.  My mother takes me to the store and says I may choose one candy bar as a treat.  Of course, I choose a Snickers.  My opportunity cost is:

1. Snickers since it is my favorite.

1. Almond Joy since it is my least favorite.

1. *Mounds since it is my second favorite.

1. Mounds, Milky Way, and Almond Joy since those are the ones I gave up.

2. Benjamin Franklin said, “Time is Money.”  Which of the following statements gives the best economic interpretation of Franklin’s words?  Time is money because

2. There is an opportunity cost for every activity we do.

2. *We can use our time to work and make money.

2. Economics puts dollar values on all activities and products.

2. Franklin believed that people should use their money carefully.

3. According to the Solman video “Opportunity Cost,” an early example of opportunity cost was provided by: 

3. Adam Smith who explained that opportunity cost is due to the workings of an “invisible hand.”

3. Adam Smith who explained why a worker should include lost earnings as part of the cost of an afternoon at the pub.

3. Benjamin Franklin who explained that opportunity cost is due to the workings of an “invisible hand.”

3. *Benjamin Franklin who explained why a worker should include lost earnings as part of the cost of an afternoon at the pub.

4. My mom always lets me choose a candy bar when we go to the grocery store.  After watching the Solman video “Opportunity Cost,” I realized for the first time that the opportunity cost of my favorite candy bar is a Milky Way.  Which of the following lists gives my ranking of candy bars from most to least favorite?

4. *Almond Joy, Milky Way, Snickers, Mounds.

4. Mounds, Almond Joy, Milky Way, Snickers.

4. Snickers, Mounds, Almond Joy, Milky Way.

4. Milky Way, Snickers, Mounds, Almond Joy,  

5. Write an essay on the theme “The economic cost of attending a party on Thursday night during the school term.”

The Production Possibilities Curve, Parts One and Two

These two video segments explain the connection between the production possibilities curve or frontier (PPF) and four economic concepts.  First, the PPC illustrates scarcity.  Because resources are scarce the pictured economy can produce only limited amounts of pizza and robots or butter and guns. To produce more pizza the economy must give up production of some robots and vice versa.  
Second, the shape of the PPC illustrates the law of increasing costs.  The PPC is concave which implies that as an economy increases production of one good, it faces an ever-increasing opportunity cost for that good.  Economist Cecilia Conrad explains that costs increase because producing more guns first involves using resources that are well suited to producing guns.  But eventually increased gun production requires transferring resources that are better suited to producing farm products (butter) to the production of guns.  Jim Clark explains increasing costs with the principle of “low hanging fruit.”  Costs are low initially because firms produce with the best resources and best techniques.  It costs little to harvest fruit that hangs at the bottom of the tree.  Eventually, however, producing more requires more expensive techniques and resources.  Harvesting fruit from high on the tree requires more time and tools.

Third, an efficient economy produces on the curve rather than inside it.  When labor and other resources are unemployed we end up inside the PPC.  Kent Ford contrasts the Great Depression, when we were well inside our PPC, and World War II, when we were on the PPC.  The labor unemployment rate was 25.2 percent in 1934 but only 1.2 percent in 1944.

Fourth, economic growth means pushing the PPC outward.  Ever since 1700 our production possibilities have been increasing due to increases in physical capital, labor, technology and human capital.  Economic growth increases the size of the national pie and makes it possible for all of us to be better off materially.

Suggestions for Using the PPC Segments

Unlike most of the other segments, the PPC segments do not lend themselves well to discussion.  The segments are best used by students out of class to reinforce lecture and text presentation of the PPC.  The videos do a very nice job of computing the opportunity cost of pizza (in terms of foregone robots) at various points on the PPC and shows clearly and carefully that opportunity cost increases as the economy produces more and more robots.  The explanations of the law of increasing costs offered by Brad Schiller, Cecilia Conrad, and Kent Ford are clear and complete and should help students understand this subtle point better.

Quiz Questions

1. The principle of the low hanging fruit helps explain:

1. Why the production possibilities frontier shifts out as resource growth occurs.

1. Why an efficient economy produces on the production possibilities frontier.

1. Why production of one good entails an opportunity cost.

1. *Why the opportunity cost of a good increases as more of that good is produced.

2. According to the Solman Video segments on the production possibilities curve (PPC):

2. *The Great Depression was a time when we were inside our PPC.

2. World War II was a time when we were inside our PPC.

2. Economic growth moves us along our PPC toward more high tech products.

2. Through economic growth we avoid opportunity cost.

3. The Solman production possibilities frontier videos explain that as an economy increases the production of robots, it experiences an ever-larger cost in terms of foregone pizzas.  The videos are describing:

3. *A movement along the production possibilities frontier toward lower pizza production.

3. A movement from inside the production possibilities frontier toward the frontier.

3. A shift in the production possibilities frontier due to technological advance in the production of robots.

3. A movement along the production possibilities frontier toward higher pizza production.

4. According to the Solman videos, the Great Depression is best thought of as a time when the United States economy

4. Moved along its production possibilities frontier toward guns and away from butter.

4. Moved along its production possibilities frontier toward butter and away from guns.

4. *Operated inside of its production possibilities frontier because many resources were unemployed.

4. Experienced an outward shift in the production possibilities frontier as a result of the Works Progress Administration. 

5. Which of the following correctly explains the connection the principle of the low hanging fruit and the production possibilities frontier?  The principle of the low hanging fruit explains:

5. Why the production possibilities frontier slopes downward.

5. Why technology growth shifts the production possibilities frontier.

5. Why the cost of fruit falls as we produce more fruit.

5. *Why opportunity cost increases as an economy produces more of a good.

6. Write an essay in which you explain the connection between the use of resources in an economy and the law of increasing costs.  Make sure to define the law of increasing costs and illustrate it with a production possibilities frontier.  

Capitalism versus Socialism: The Cuban Quandary

It is easy to forget that today’s principles students were children when the Berlin Wall came down.  For as long as they can remember, all major economies have been market economies although China is beginning to emerge as a socialist economic power.  This video reminds our students that their parents grew up during a time when competition between capitalism and communism was fierce, and that their grandparents group up during a time when many in western nations thought that communism might be a remedy for the Great Depression.  

This video explains that the struggle between free market capitalism and socialism goes on today in a most unlikely place – Cuba.  When the Soviet Union dissolved, it ceased subsidizing Cuba and the Castro regime.  To raise needed funds and to improve production at home, Cuba adopted some aspects of free market economics.  Cuban companies entered into joint ventures with foreign firms to build tourist hotels and to market foreign products in Cuba.  Domestic farmers sell some of their product in free markets.  The result has been increased food production and the introduction of many foreign goods into Cuba.

Cuba is far from ready to embrace democracy and capitalism.  Many producers vow loyalty to the state system.  Interviewed students say they prefer a system where all are equal versus one where someone with a new pair of athletic shoes can act superior.  Dissidents say that their country is not really free and that the state still has nearly complete control of economic life. 

The video raises an interesting question.  Can social equality hold out as the market marches in?  Cuban emigrant economist Antonio Morales-Pita left Cuba in part because his state controlled salary was far less than the salary of someone with an eighth grade education who was permitted to work in the free market sector of Cuba.  Morales-Pita concludes that few will be willing to undertake the kind of training he did and to remain in Cuba.

In-Class Discussion Questions

1. According to the video, why is a struggle underway in Cuba between social equality and the free market?

1. Why did Cuba permit free markets?

1. Who in the video wants Cuba to remain socialist?  Why?

1. Who in the video prefers free markets and capitalism? Why?

1. What is the role of incentives in this struggle?

1. In your view, which force will win out?  Why?

2. How does Antonio Morales-Pita illustrate the problems Cuba faces by permitting an economic system that is part socialist and part free market?

2. What is the inequity of which Morales-Pita speaks?

2. What does the joke about the doorman at the Hotel Nacional have to do with the problems of a part socialist, part free market Cuba?

Out-of-Class Activities

1. Write an essay on the tension between social equality and free markets in Cuba today.  Explain who benefits from free markets and who benefits from socialism.  Discuss how the incentives created by each system differ.  

2. Use online resources to find data that permits a comparison of the Cuban and U.S. economies.  Which of these data suggest that the U.S. economy is superior?  Explain.  Which of these data suggest that the Cuban economy is superior?  Explain.

Quiz Questions

1. Which of the following correctly explains how incentives work in Cuba?

1. In the socialist sector of the Cuban economy, workers have an incentive to produce more and better quality products.

1. *In the market sector of the Cuban economy, workers have an incentive to produce more and better products.

1. In the socialist sector of the Cuban economy, doctors earn very high wages.

1. In the market sector of the Cuban economy, doctors earn very high wages.

2. According to the Solman video “Capitalism versus Socialism,” which of the following best describes the quandary that Cuba faces?

2. The socialist system creates better incentives but is popular only among the older generations.

2. *Free markets create better incentives but mostly help those who work in the free market sector.

2. The socialist system creates worse incentives but helps the party faithful.

2. Free markets create worse incentives and mostly help those who work in the free market sector.

3. According to the Solman video “Capitalism versus Socialism,” which of the following best explains why Cuba has begun to allow some producers to sell their goods in free markets?

3. A student revolution demanded free markets.

3. *The fall of the Soviet Union stopped subsidies to Cuba.

3. Free markets have helped Cuba hold on to their doctors and other professionals.

3. The Castro regime would like Cuba to be more like the United States.

4. According to the Solman video “Capitalism versus Socialism,” the case of Antonio Morales-Pita illustrates the problems facing Cuba because it shows:

4. How students in Cuba are drawn to the free market by a desire to imitate their counterparts in the United States.

4. How farmers like Morales-Pita are forced by poverty to sell their output in the free market sector even though they are committed to socialism.

4. *How professionals like Morales-Pita consider it unfair that they earn less than low-skilled workers in the free market sector.

4. How workers in the Cuban tourist sector are able to earn higher average salaries but are forced to endure long spells of unemployment.

5. Write an essay on the theme “Can socialist equality hold out as the market marches in?”

The Basics of Graphing

A picture is said to be worth a thousand words.  In economics, the thousand-word picture is a graph.  The video introduces students to representing direct and inverse relationships on a two dimensional graph.  The first example uses fictional data that reveals a direct relationship between hours spent watching the Solman video and hourly wage.  The second example depicts an inverse relationship between the amount of time spent listening to loud music and the quality of hearing.  For both examples, the video works from individual observations, to a graphic representation, and concludes with a characterization of the relationship as direct or inverse. 

In-Class Activities

1. Ask students to write their own height in inches, weight in pounds, and gender on a piece of paper.  Students fill out the reports anonymously.

1. A data collection group collects the student height-weight reports, or a sample if the class is large.  It sorts the observations from shortest to tallest and either makes a list of the observations or enters them in a spreadsheet (if the classroom has an RGB projector). 

1. While the data collection group is working, a graphing group draws a grid on an overhead transparency.  Once it receives the data list, the graphing group graphs the points. Alternatively, the group can use the graphing feature of the spreadsheet.

1. The instructor then asks the class what the data show.  The instructor asks whether the relationship is linear or non-linear.  If linear (or approximately so), the instructor asks the class to compute and interpret the slope of the graph.

1. Students are asked to guess the appearance of separate height-weight graphs for men and women.  The data and graphing groups are then asked to create them.

2. The instructor breaks the class into groups.  Each group must come up with a conjecture about the relationship between two economic variables that includes an explanation of whether the relationship is direct or inverse.  Groups turn in brief written reports on the conjecture.  The instructor also take oral reports so that students have an opportunity to see what other groups have come up with.

Out-of-Class Activities

1. The instructor gives each student a copy of the data collection group report on the relationship between height and weight.  Each student must graph the data using a spreadsheet and print the graph.

2. This activity follows In-Class Activity 2.  Student groups group collect data that will permit them to check their conjectures, graphing the data, and prepare a one-page reports that explain where the data come from and whether the data supports their conjecture.

Quiz Questions

1. Which of the following is most likely to be an inverse relationship?

1. Number of years of schooling and starting wage.

1. Height and weight of a person.

1. Hours studying and the score on an examination.

1. *The price of a soft drink and the number of soft drinks sold.

2. The relationship between hours spent listening to loud music in your teen ears and the ability to hear at age 25 is most likely:

2. Direct because listening to loud music improves hearing.

2. Inverse because listening to loud music improves hearing.

2. Direct because listening to loud music harms hearing.

2. *Inverse because listening to loud music harms hearing.

3. The relationship between hours spend studying and your final exam score is most likely:

3. *Direct because studying improves exam performance.

3. Inverse because studying improves exam performance.

3. Direct because studying harms exam performance.

3. Inverse because studying harms exam performance.

4. Which of the following is most likely to be a direct relationship?

4. The price of a soft drink and the number of soft drinks sold.

4. Hours listening to loud music as a teenager and hearing ability at age 25.

4. The weight of an adult and the number of pull-ups he can do.

4. *The number of years of schooling and starting wage.

5. The relationship between the number of years of schooling and the starting wage is most likely:

5. Direct because more years of schooling means less valuable job experience.

5. Inverse because more years of schooling means less valuable job experience.

5. *Direct because more years of schooling means more valuable knowledge.

5. Inverse because more years of schooling means more valuable knowledge.

Private Property (and Pilgrims, Too)

As the video begins, Paul Solman stands outside his home and recounts the improvements he and his wife have made to it.  How many of these would we have undertaken, he questions, if we had rented?  Very few.  Private ownership of property creates an incentive for owners to get as much benefit as possible from their property.  The incentive is absent when property is held in common.

Most of the video tells the story of the decision of the Pilgrims at Plymouth to change from common to private ownership of the fruits of their labor.  To tell the story, Solman visits modern day Plymouth Plantation where early 17th century life at Plymouth is reenacted.  

The Pilgrims came to the new country for more than religious freedom.  They came to be prosperous.  But the costs of the ocean voyage and of outfitting the colony were beyond the means of the settlers.  A group of English investors underwrote those costs because it believed the colony could be profitable.  The investors believed that profits would be larger and come sooner if the colonists worked in common.  They were wrong.  In 1623, the colony switched to a private property arrangement.  Immediately the settlers began to work harder.  The actor playing the role of Governor Bradford explains why he was initially opposed to private property and why he changed his mind.

In Plymouth, private property created an incentive for individuals to work harder.  They responded to the incentive and the colony prospered.  One “colonist” says that he came for the land, to be prosperous, and, also to do God’s work.  He suggests that common effort might work well in heaven but that private property works better in this life.

In Plymouth, the installation of private property created an important problem–inequality.  Some colonists could take better advantage of their situation than others.  The actor portraying Isaac Allerton explains that he knows better how to obtain rights from the Crown of England to hunt on nearby rivers and that he expects to profit greatly from the fur trade.  

The video closes with two observations.  First, it is somewhat ironic that working for one’s self instead of working for the group can actually make the group better off in the long run.  Paul Solman suggests that economic life in the Boston area has developed because of private property but benefits all today.  Second, a view from space reveals an interesting correlation.  The areas that appear well lit at night are those where private property rights are well established.

In-Class Activities

1. Discuss the following questions.  

1. According to the Solman video, why does working for one’s self actually make the group better off in the long run?

1. How do the scenes from the Plymouth colony bear on this question?  Why were the colonists better with private than with common property?

1. What does Paul Solman means when he says that private property creates an incentive to work harder?

1. Give examples from campus life of the incentives created by common property and by private property.  How do these incentives differ?

2. Conduct a role play in which members of the elder council of Plymouth Colony meet to advise Governor Bradford on a proposed change of work rules in the colony.  Give each role player the following instructions.  Once council members have prepared themselves, conduct the council meeting.  

Instructions.  It is 1623.  You are a member of the elder council of the Plymouth Colony.  It has been proposed that colonists be allowed to work for themselves instead of for the common good.  You are preparing for a meeting in which you will advise Governor Bradford whether to adopt the proposal.

2. Make a list of the benefits of working in common.

2. Make a list of the benefits or working for one’s self.

2. Decide how the debt of the colony will be paid if colonists work for themselves instead of for the common good.

2. Decide how you will advise the governor.

Out-of-Class Activities

1. Undertake research to determine whether the video accurately portrays Governor Bradford’s decision to change from common to private property.  Write a one-page report about what you learn.  Provide complete citations of your source material.

2. Undertake research to determine whether there were other groups of American colonists that prospered under common property rules.  Write a paper that reports your findings.  Provide complete citations for your source materials.

Quiz Questions

1. According to the Solman Video, why did Governor Bradford decide to switch to a system of private property in the Plymouth colony?  Because:

1. Private property was in better keeping with the religious beliefs of the colonists.

1. *Private property tended to make the colonists work harder.

1. Private property made it more profitable for colonists with connections to the King to gain title to new lands.

1. Private property made Governor Bradford richer.

2. Which of the following scenes from the Solman video depicts the economic benefits of private property?

2. Paul Solman describing his home improvements.

2. Governor Bradford describing colonial work effort.

2. The overhead view of Boston area development.

2. *All of the above.

3. According to the Solman video, when Governor Bradford switched colonists from working in common to working for themselves, the Plymouth Colony experienced:

3. *An increase in efficiency and a decrease in equality.

3. An increase in efficiency and an increase in equality.

3. A decrease in efficiency and an increase in equality.

3. A decrease in efficiency and a decrease in equality.

4. According to the video “Private Property (and Pilgrims, Too),” individuals are more likely to make improvements to their dwellings when:

4. They live in a good city like Boston.

4. They are members of commonly owned living space.

4. They have strong social ties.

4. *They own their dwelling.

5. Write an essay in which you explain the connection between private ownership and decisions to improve property.  Use the economic concept of incentive in your essay.

Specialization

As the video begins, Paul Solman explains specialization using Adam Smith’s example of a pin factory.  The scene changes to an economics class where Professor Kathryn Nance explains an exercise that demonstrates the benefits of specialization.  Can a student working alone make more widgets (paper folded in quarters and stapled at the corner) per person than students working in teams?  The video shows how teams alter their specialized assignments as they gain experience.  It also shows how specialization leads to innovation as one team member realizes he can fold more than one sheet at a time.  After two two-minute rounds, the teams are making more widgets per person than the solo manufacturers.

Paul Solman takes away from this experiment the realization that “specialization makes you practice.” That insight, he says, was key to the successful working of the assembly line introduced by Henry Ford.  Productivity on the line was so high that workers at the Ford Plant were able to afford the cars they made.

Dan Hamermesh savors a strawberry sundae as he explains that specialization drives trade.  He explains the plastic for the sundae cup was made from oil that likely came from a foreign source, moved to a refinery, went on to a plastics plant, and finally was sent to the ice cream factory.  The sundae ingredients were also provided by specialists – a dairy on one hand and a strawberry grower on the other.  

Paul Solman describes international trade as geographic specialization and uses a pencil as an illustration.  The wood is California cedar.  The eraser is made from South American rubber and Italian pumice.  The graphite is a mixture of ingredients from Mexico and Sri Lanka. Specialization and trade are essential to our modern standard of living.  Imagine, says Solman, building your own refrigerator. International trade increases world wealth through specialization of world resources.  Specialization and trade, Salemi explains, permits wine makers in Tuscany to use their excellent grape-growing soils exclusively for growing grapes.  

In-Class Activities

1. The video illustrates an excellent in-class activity.  Students can investigate the benefits of specialization through the widget making exercise described by Kathryn Nance.  The instructor will need only sheets of paper, several staplers, and instructions.  Nance had the word “widget” printed on the paper she used and students were required to fold the paper so the “widget” was visible.  The paper also had printed on it a “staple target” area and students were required to hit the target with the staple.

2. Discuss the following question.  According to the video, what is the connection between specialization and world trade?

2. How does Dan Hamermesh make the case for trade?

2. How does Michael Salemi make the case for trade?

2. How does the pencil example make the case for trade?

Out-of-Class Activities

1. Divide students into teams and have them locate and analyze examples of specialization on their own campus.  One team should study specialization in sports.  Another, specialization in academic departments.  A third, specialization in campus dining. A fourth, specialization in students' services.  And so forth.  Each team should prepare a one-page report entitled “How Specialization Affects Our Campus.”

2. Create a competition in which students design in-class exercises that are substitutes for the widget-production exercise shown in the video.  Offer a prize for the best exercise and then run it in class.

Quiz Questions

1. According to the Solman video, international trade increases world wealth because:

1. *It permits specialization of resources at the world level.

1. It allows firms to avoid negotiating with labor unions.

1. It insures that nations will be self reliant.

1. It encourages a nation-to-nation exchange of ideas.

2. Which of the following best describes the point that Dan Hamermesh makes with the ice cream sundae as part of the Solman video?

2. Workers at the sundae plant work on an assembly line and do specialized tasks.

2. The sundae shows that world specialization is not very important since it is made with U. S. ingredients.

2. *The sundae maker uses the products of many specialized producers to make the sundae.

2. Specialization allows Hamermesh to afford a life style that includes sundaes.

3. According to the Solman video, Adam Smith introduced the example of a pin factory in order to explain that:

3. *Specialization increases productivity.

3. The invisible hand guides resources to their most efficient uses.

3. Self-interested behavior is socially desirable.

3. Every choice involves a cost.

4. According to the Solman video, international trade increases the efficiency with which resources are used because trade:

4. Allows nations to produce outside their production possibilities frontier.

4. Introduces consumers to a wider variety of goods.

4. *Permits specialization on a world-wide scale.

4. Gives industrialized nations' access to cheaper labor.
5. Write an essay explaining how the Solman video “Specialization" makes the case for world trade.
Rational Maximizing

Are people rational maximizers?  Do they pursue their self-interests in a purposeful way?  The video looks at these and related questions.  

When Stan Brue asks his students what line they get in at a fast food restaurant, they invariably answer “the shortest one.”  While such a choice seems obvious, Brue argues that it results from a quick calculation of self-interest.  Whether a decision is rational must be judged on the basis of the ex ante information available to the decision maker.  The video illustrates a case where the line with the fewest people proves to be the one with the longest wait. Brue explains that because information is costly, we often choose rationally not to collect it.

Paul Solman asks students for examples of irrational behavior.  Several volunteer.  One student suggests it is irrational to stay up late and sleep through a class that costs $115.00.  Others say that they always tip servers at roadside restaurants even if they will never return.  

Economist Kent Ford explains there is no conflict between being unselfish and being self-interested.  He suggests that Mother Teresa was self-interested when she helped the poor because it made her feel better.  Robert Frank counters with the observation that behavioral economists are working to broaden economics by combining insights from psychology.  Stan Brue rejoins that the assumption that people are rational maximizers is true enough to be the basis for many useful predictions such as that consumer prefer lower to higher prices and that firms will try to maximize profits.  

In-Class Activities 

Discuss the following questions.  

1. Economists typically assume that people are rational maximizers.  What according to the video are the best arguments for and against making this simple assumption?

1. How would a mainstream economist explain why some people tip servers at restaurants to which they will never return?

1. Why do the behavioral economists think that the assumption that people are rational maximizers is too narrow?

1. Who in the video makes the stronger case?

After students watch the video, the instructor should assign one group to represent the thinking of Stan Brue and Kent Ford and a second group to represent the thinking of Robert Frank and Nancy Folbre.  The instructor should then ask the class to describe irrational behavior they have witnessed, choose several examples, and ask the two groups how the economists they represent would explain the behavior.

Out-of-Class Activities

1. Write a paragraph explaining whether it is useful for mainstream economists to assume that people are rational maximizers.

2. Pick ten students at random from the roster of students in your living quarters.  Ask each whether they left a tip the last time they visited a sit-down restaurant on a road trip.  If they answer “yes,” ask why.  If they answer “no,” ask why not.  Write a one-page paper that reports the results and explains whether the results contradict the hypothesis that people are rationally self-interested.

Quiz Questions

1. “I picked the wrong checkout line.  I chose a short line and then found out that the person in front of me had three items without price tags.”  Which of the following correctly explains how a mainstream economist would describe the reported behavior?  The behavior was:  

1. Irrational because the wait turned out to be longer than necessary.

1. *Rational because it is too costly to ask everyone in line about their items.

1. Irrational because the person forgot to obtain needed information.

1. Rational because all behavior is rational.

2. In “Rational Maximizing,” Stan Brue explains that the decision to get into the shortest line at a fast food restaurant is:

2. A habit that tells us little about economic behavior. 

2. A bad decision unless we find out what others are ordering.

2. An example of Adam Smith’s invisible hand at work.

2. *An example of rational self-interest.

3. In “Rational Maximizing,” when the girl waiting in line asks everyone in front of her for their order she demonstrates:

3. That rational self-interest requires complete information.

3. *That information is costly to obtain.

3. How the invisible hand guides decisions.

3. How a model is sometimes too simple.

4. Behavioral economists believe that rational self-interest 

4. Provides an accurate description of human motives and behavior.

4. Only makes sense when decision makers have complete information.

4. *Should be combined with insights from psychology.

4. Cannot explain simple decisions like choosing a line at the grocery store.

5. Write an essay summarizing the debate between those economists who believe it is useful to assume that people are rational maximizers and others who believe that economics should broaden its view of human behavior.  Make at least two specific references to the video “Rational Maximizing.”

The Supply Curve
Paul Solman begins the video by suggesting a couple of “memory pegs” that students can use to remember that we record “Price” on the vertical axis and that the supply schedule slopes upward.

Solman uses a milk cow auction in Pennsylvania Amish country to illustrate the construction of the supply schedule and the law of supply.  He interviews Dennis Wolf, a supplier of milk cows, and asks how the supplier would respond to various prices.  The supplier says he would “get out of the market” if the price were only $500 per cow.  But if the price rose to $1000 per cow, Dennis says that he would sell “half of his surplus stock.”  And so the interview goes.

Each time supplier Wolf responds to a price, Solman records the answer on a graphical supply schedule using “cow icons” to show that more cows will be supplied at higher prices.

In-Class Activities

Answer the following discussion questions.  

6. According to the video, why are higher prices associated with higher quantities supplied?

6. Is it the buyer or seller of cows who responds to higher prices with higher quantities?

6. Why does the supply schedule slope upward?

1. Simulated labor auction.  The instructor tells students he wants help with office chores on the following Saturday and that he needs to do some market research to determine whether he can get the help he wants. He asks each student to fill out a half sheet of paper with offers to supply labor.  How many hours would you be willing to work next Saturday doing office chores if the pay is $5.00 per hour, $7.50 per hour? $10.00 per hour? And so forth.  The instructor collects the offer sheets and turns them over to a “data analysis group” that constructs a supply schedule and draws it on a transparency.  Once the supply schedule is ready, the instructor uses it to begin a discussion of why the supply schedule slopes upward.

Out-of-Class Activities

1. The video provides students with an excellent opportunity to reinforce their understanding of the supply schedule and the law of supply.  Instructors should routinely suggest that students watch the video after they have read the text.

2. Conduct an interview of a supplier in your local economy modeled after Paul Solman’s interview of Dennis Wolf.  Write an essay that reports the results of the interview and how it bears on the law of supply.

Quiz Questions

1. According to the Solman video, which of the following is a correct illustration of the law of supply? As the price of a cow rises:

1. Amish farmers are willing to buy more of them.

1. *Livestock breeders are willing to sell more of them.

1. Amish farmers are willing to buy fewer of them.

1. Livestock breeders are willing to sell fewer of them.

2. Livestock breeder Dennis Wolf says that if the price of a cow were $500, he would “get out of the market” but if the price were $1000 he would “sell half his surplus stock.”  Wolf’s answers illustrate:

2. *The law of supply.

2. The law of demand.

2. Market equilibrium. 

2. How an auction works.

3. The Solman video “The Supply Curve” includes interviews showing that livestock breeders are willing to sell more cows when the price of a cow is higher.  The interviews are a correct illustration of:

3. The law of demand.

3. The principle of the low hanging fruit.

3. *The law of supply.

3. The law of increasing costs.

4. According to the law of supply, a very low price for a cow  

4. Illustrates Benjamin Franklin’s principle that time is money.

4. Signals farmers to purchase fewer cows.

4. Illustrates the workings of Adam Smith’s invisible hand.

4. *Signals livestock breeders to raise fewer cows.

5. Write an essay that explains how the self-interested behavior of a livestock breeder gives rise to the law of supply.

The Demand Curve
Paul Solman returns to the Pennsylvania milk cow auction to explain how prospective buyers of milk cows respond to price.  He suggests that only someone who desperately needs a cow would be willing to buy one at $5000.  He then interviews Farmer Tom and others to determine how they would react to ever lower prices.  Each says that as price falls, they would be willing to buy more of the cows at the auction.  Farmer Tom says that if the price fell to $500, he himself would be willing to buy every cow there.

The video closes with two summaries and a preview.  First, Robert Solow explains the difference between the supply and demand schedules.  Then, Paul Solman reviews the memory pegs contained in the video.  Is that everything?  “No,” explains Robert Solow.  The job of the demand and supply curve is to determine the equilibrium price–the subject of the next video.

In-Class Activities

1.
Answer the following discussion questions.  

5. According to the video, why are lower prices associated with higher quantities demanded?

5. Is it the buyer or seller of cows who responds to lower prices with higher quantities?

5. Why does the demand schedule slope downward?

2.
Break the class into groups.  The task of each group is to determine the best example of the law of demand that can be observed in their college community.  Groups receive ten minutes to discuss the possibilities and make a choice.  Groups report their findings to the class as a whole and the instructor uses the reports to promote further discussion.

Out-of-Class Activities

1.
The video provides students with an excellent opportunity to reinforce their understanding of the demand schedule and the law of demand.  Instructors should routinely suggest that students watch the video after they have read the text.

2.
Conduct an interview of a demander in your local economy modeled after Paul Solman’s interview of Farmer Tom.  Write an essay that reports the results of the interview and how it bears on the law of demand.

Quiz Questions

1. According to the Solman video, which of the following is a correct illustration of the law of demand? As the price of a cow falls:

1. *Amish farmers are willing to buy more of them.

1. Livestock breeders are willing to sell more of them.

1. Amish farmers are willing to buy fewer of them.

1. Livestock breeders are willing to sell fewer of them.

2. Farmer Tom says that he would buy a cow if the price were $2000 but would buy “every cow at the auction” if the price were $500 per cow.  Farmer Tom’s statements illustrate:

2. The law of supply.

2. *The law of demand.

2. Market equilibrium. 

2. How an auction works.

3. The Solman video “The Demand Curve” includes interviews with Farmer Tom who explains that he is willing to buy more cows when the price of a cow is lower.  The interviews are a correct illustration of:

3. *The law of demand.

3. The principle of the low hanging fruit.

3. The law of supply.


3. The law of increasing costs.

4. According to the law of demand, a very high price for a cow:  

4. Illustrates Benjamin Franklin’s principle that time is money.

4. *Signals farmers to purchase fewer cows.

4. Illustrates the workings of Adam Smith’s invisible hand.

4. Signals livestock breeders to raise fewer cows.

5. Write an essay that explains how the self-interested behavior of a dairy farmer at a livestock auction gives rise to the law of demand.

Equilibrium

With the help of Bossie, the Econo-cow, Paul Solman begins this segment with a review of demand and supply ideas presented earlier.  He then explains that supply and demand prepare us for the chief purpose they serve – the determination of the market equilibrium price and quantity. Solman describes the intersection of the demand and supply schedules as an economics crossroads and the equilibrium thereby determined as the working of Adam Smith’s invisible hand.

Most of the video is dedicated to two ideas.  First, the intersection of the demand and supply schedules determine the equilibrium price.  The video presents an illustrated example where the equilibrium price of a cow is $10 per pound and explains that at the equilibrium price the quantity demanded equals the quantity supplied (1000 pounds).

The second idea is subtler.  Only at the equilibrium price are resources efficiently allocated.  With the help of Robert Solow, Solman explains why and how other-than-equilibrium prices would lead to inefficiency.  Using the illustrated example, the video explains that 1100 pounds of cow would be willingly supplied by breeders only if the price were $11.00 per pound.  But supplying 1100 pounds would not be efficient because demanders would only be willing to pay $9.00 per pound to purchase 1100 pounds.

Why is this a misallocation of resources?  The video reminds viewers that moving upward along the supply schedule means using ever more expensive resources to produce larger quantities of cow.  Only at the equilibrium price is the (marginal) cost of the resources used to supply a pound of cow exactly equal to what buyers are willing to pay for a pound of cow. At prices above equilibrium, there will be a surplus produced.  At prices below equilibrium, there will be a shortage.

What did Adam Smith mean by the invisible hand?  Robert Solow explains it is the self-interested behavior of buyers and sellers that explains the shape of the demand and supply curve.  But when buyers and sellers interact in a market, like the cow auction, the resulting equilibrium has great social value.  The invisible hand guides the market to a price where every buyer and seller observes the true resource cost of a cow or any other good.

In-Class Activities

1. Answer the following discussion questions.  

1. According to the Solman video, why is the connection between the intersection of the demand and supply schedule and Adam Smith’s invisible hand?

1. What does the video say is true about the equilibrium price that is true about no other price?

1. In what sense does the free interaction of supply and demand insure an efficient use of resources?

1. According to Robert Solow, why does the market equilibrium have social value?

2. Divide the class into four groups of six to eight students each.  In larger classes, repeat the group assignments.  Have students watch “Equilibrium.”  Assign group one the job of explaining what goes wrong when equilibrium price is too low.  Assign group two the job of explaining what goes wrong when equilibrium price is too high.  Assign group three the job of explaining what goes wrong when equilibrium quantity is too low.  Assign group four the job of explaining what goes wrong when equilibrium quantity is too high.  After groups have an opportunity to work on their explanations, the instructor takes reports and uses them as the basis for a broader discussion of the connection between equilibrium price and market efficiency.

Out-of-Class Activities

1. “Equilibrium” provides students with an excellent opportunity to review demand and supply and reinforce their understanding of market equilibrium.  Instructors should routinely suggest that students watch the video after they have read the text.

2. Search the Internet to find an example of a good that is sold at auction.  Prepare a report on the good that is sold, how the auction works, and equilibrium price of the good.

3. Explain in an essay how an economist would account for the fact that some cows at the same auction sell for higher prices than others.  Does the fact that different cows sell for different prices invalidate the use of demand, supply, and equilibrium price to describe the market?  Why or why not?

Quiz Questions 

1. Which of the following statements correctly explains the connection between demand, supply and the invisible hand?  The invisible hand:

1. Takes us down the demand curve toward higher quantities as prices fall.

1. Takes us down the supply curve toward higher quantities as prices fall.

1. *Creates an equilibrium where demand equals supply and resources are used efficiently.

1. Creates an equilibrium where demand equals supply but has no implication for efficient resource use.

2. The Solman video presented an example in which the equilibrium price of a cow was $10.00 per pound.  This implies that at a price of $9.00 per pound:

2. *There would be a shortage of cows.

2. Too many resources would be used to produce cows.

2. There would be a surplus of cows.

2. The equilibrium price must fall to balance demand and supply.

3. The Solman vide presents an example where the equilibrium price of a cow was $10.00 per pound.  This implies that at a price of $11.00 per pound:

3. There would be a shortage of cows.

3. *Too many resources would be used to produce cows.

3. The equilibrium price would rise to balance demand and supply.

3. Too few resources would be used to produce cows.

4. According to the Solman video, a market equilibrium where demand equals supply is an illustration of: 

4. Adam Smith’s invisible hand because price is a good measure of opportunity cost.

4. *Adam Smith’s invisible hand because self-interested buyers and sellers produce an equilibrium where resources are used efficiently.

4. The law of increasing costs because price is a good measure of opportunity cost.

4. The law of increasing costs because self-interested buyers and sellers produce an equilibrium where resources are used efficiently.

5. Write an essay explaining what Robert Solow meant when he said a market equilibrium occurs when “...people acting in their own self interest manage to do something of social value.”

Curve Shifting

In December 1999, the price of natural gas was $2.00 per thousand cubic feet.  One year later, the price had risen to $6.00 and in December 2002, the price reached $50.00. Why?  In this video segment, Paul Solman explains the forces that shift supply and demand schedules and uses demand and supply shifts to explain the rise in energy prices.

It is not hard to understand why demand for natural gas would have increased between 1999 and 2002.  The winter of 2001 was unusually cold.  Solman explains why a change toward colder weather will increase demand for natural gas.  He suggests that at $2.00 per thousand cubic feet, the quantity of natural gas demanded would be 15 trillion cubic feet in 1999 but as much as 20 trillion cubic feet in the colder winter of 2001.  So part of the answer is that cold weather caused a shift in the demand schedule toward higher quantities.

Solman acknowledges that other factors could shift the demand for natural gas.  For example, a change in tastes, a change in the price of a related good such as oil, a change in the number of buyers, or a change in buyers’ incomes could have caused a change in demand for natural gas.  But, he concludes, between 1999 and 2002 the increase in demand was due primarily to a change in the weather.

Solman argues that increase in demand for natural gas occurred simultaneously with a decrease in supply of natural gas and that both drove the equilibrium price of gas higher.  But what caused the decrease in supply?

One reason that supply might decrease would be that energy fields were removed from service, which is what happened in the oil industry during the first Gulf War.  But no similar explanation seems relevant for 1999-2001.  Solman explains the U.S. government determined later that some energy companies had engaged in “shady practices” to restrict the supply of energy to California and thus drive up prices.  The shady practices included scheduling simultaneous “routine maintenance” at many electricity-generating plants, which required they be taken off line, thereby reducing the throughput of pipelines and committing energy supplies elsewhere so that they were not available in California.  Economist Michael Salemi explains that the purpose of energy company collusion was to reduce supply so that the supply schedule would intersect the demand schedule at a very high price.

Students will better understand this video if instructors provide some clarification.  The video begins talking about the market for natural gas and suggests that an increase in demand and decrease in supply for natural gas combined to drive up the equilibrium price from $2.00 in 1999 to $50.00 in 2002.  The video goes on to describe steps taken by energy companies to restrict the supply of electricity and gas to California.  Natural gas, oil, and electricity are all related energy products.  A decrease in the supply of electricity that raised the price of electricity would further increase the demand for natural gas.  So, while the video describes attempts by energy companies to restrict the supply of electricity to California, those supply restrictions help explain why the price of natural gas rose to high levels.

In-Class Activities

1. Discuss the following questions.  

1. According to the Solman video, how can one use supply and demand analysis to explain why the price of natural gas rose from $2.00 per thousand cubic feet in 1999 to $50.00 per thousand cubic feet in 2002?

1. How does the icy winter of 2001 factor into the explanation?

1. How according to the video, do the practices of energy suppliers help explain the rise in price of natural gas?

1. Why, according to Solman, is the trend toward higher natural gas prices a long run as well as short run phenomenon?

2. Discuss how the shape of the demand schedule for natural gas helps explain the size in the price increase that occurred between 1999 and 2002?

2. Would a decrease in supply of natural gas raise the equilibrium price more if the demand schedule was flatter (price elastic) or if the demand schedule was steeper (price inelastic)?

2. What does it mean for a demand schedule to be steep (price inelastic)?  Does it make sense that the demand for energy in general and natural gas in particular would be price inelastic?  Why or why not?

Out-of-Class Activities

1. “Curve Shifting” provides students with an excellent opportunity to reinforce their understanding of how and why demand and supply schedules shift and what the effects of those shifts are on equilibrium price. Instructors should routinely suggest that students watch the video after they have read the text.  

2. After Enron collapsed, various government agencies accused the energy industry of manipulating the price of energy during 2001 and 2002.  Locate a credible source that provides detailed information on the alleged practices of energy companies.  Use demand and supply analysis to explain how those practices could raise the market price of natural gas.  Write a one-page paper that reports your findings and explains your analysis.  Make sure to include a demand and supply graph.

Quiz Questions

1. According to the Solman video “Curve Shifting,” the increase in natural gas prices observed between 1999 and 2002 was caused by:

1. An increase in demand for natural gas that outweighed an increase in supply.

1. A decrease in demand for natural gas that was outweighed by a decrease in supply.

1. An increase in demand for natural gas that was reinforced by an increase in supply.

1. *An increase in demand for natural gas that was reinforced by a decrease in supply.

2. To which of the following factors does the Solman video “Curve Shifting” attribute the increase in demand for natural gas that occurred between 1999 and 2002?

2. Attempts by suppliers to reduce the supply of energy.

2. An increase in urban population.

2. Rising incomes that increased demand for all products including natural gas.

2. *Decreasing temperatures during the winter of 2001.

3. According to the Solman video “Curve Shifting,” which of the following could explain an increase in the equilibrium price of natural gas?

3. *An increase in the price of oil.

3. A recession that lowered average household income.

3. The invention of cleaner and more efficient oil furnace for home heating use.

3. The discovery of a large new natural gas field.

4. According to the Solman video “Curve Shifting,” which of the following could explain an increase in the equilibrium price of natural gas?

4. A decrease in the price of oil.

4. A recession that lowered average household income.

4. Mild winter weather.

4. *Decisions by suppliers to withhold natural gas from the market.

5. Write an essay in which you explain how Paul Solman uses demand and supply analysis to explain the rise in the price of natural gas that occurred between 1999 and 2002.

Trade: Its Trials and Triumphs

How free trade should be is a controversial question.  The Solman video begins by explaining that 93 percent of economists are opposed to international trade restrictions.  Why are economists on one side when so many business people and workers favor some sort of trade restrictions?

The answer, explains Solman with the help of Robert Gordon, is that economists understand comparative advantage.  Gordon uses the standard illustration.  Just because an attorney can type faster and more accurately than her typist does not mean she should.  The lawyer has a comparative advantage in lawyering.  The typist has a comparative advantage in typing.  The lawyer gives up too much (in terms of the value of foregone lawyering) when she types.  So, the only sensible solution is that both lawyer and typist specialize in the activities for which they have a comparative advantage.  Economists favor free trade because they believe that, like individuals, nations should specialize in economic activities where they have a comparative advantage.

Why then is free trade so controversial?  Why did President George W. Bush, who publicly supports free trade, slap a 30 percent tariff on steel?  Firms and workers who are hurt by foreign competition from foreign goods frequently seek economic policies, like trade quotas and tariffs, that provide them protection.  Paul Solman interviews Dan DiMicco of Nucor Steel and Jack Nash of textile manufacturer Milliken and Company who explain how badly foreign competition hurt their industries.  So why not help these threatened workers and firms?

Part of the reason that free trade is controversial is the benefits of free trade are spread so widely across our population that we take them for granted.  Kent Ford explains that consumers benefit a lot by having a wider selection and lower prices.  Our export firms, like IBM, also benefit.  The costs of free trade are concentrated while the benefits are diffused.

Harvard economist Robert Lawrence argues that free trade has been an engine of growth for the United States.  After World War II, tariffs were typically 40 percent.  Today, tariffs are typically 4 percent.  We have never been so open or so prosperous, says Lawrence, who fears that recent decisions to raise tariffs might trigger retaliation, and possibly a full blown trade war.  It would be folly, says Lawrence, to return to “Fortress America.” 

But Dan DiMicco disputes the notion that U.S. manufactures seek an advantage through trade restrictions.  He argues that in many case restrictions are necessary to offset unfair subsidies given by foreign governments to foreign firms.  AFL-CIO representative Thea Lee echoes this theme by pointing out that many foreign governments deny their workers basic human and labor rights.

In late 2003, the World Trade Organization ruled against U.S. steel tariffs.  Quickly President Bush removed them making users of imported steel like U.S. auto manufactures happy but angering U.S. steel producers like Mr. DiMicco.

The last part of the video explains that international competition has become relevant for many service industries.  The creation of the Internet makes it possible for transcription of medical records to be done by transcribers in India.  Service sector workers like Scott Adelstein believes the U.S. government should act on their behalf.  Scott reports he has been without work as a software engineer for many months and currently works stocking shelves at K Mart.  “Why would a U.S. firm hire me,” he asks, “at my annual salary of $52,000 when they can get the job done cheaper overseas?”

What is the answer for U.S. service sector workers?  Rajiv Chaudry argues that workers today must constantly reinvent themselves.  The Internet, he points out, was created in the United States and created millions of jobs in the U.S. and abroad.  Whatever the next big thing is, Chaudry argues, it will be created in the U.S. and U.S. workers must be ready to take advantage of its opportunities.

In-Class Activities

1. Answer the following discussion questions.  

1. According to the video “Trade,” do the benefits of free international trade outweigh the costs?

1. Who benefits from free international trade?  What form do the benefits take?

1. What is the meaning of comparative advantage and what does comparative advantage have to do with the benefits of trade?

1. Who bears the costs of free international trade? What form do the costs take?

1. How should an economist answer Dan DiMicco, Jack Nash, and Scott Adelstein who all want protection from international competition?

1. What does Rajiv Chaudry mean when he says that workers must learn to reinvent themselves?

1. What does economist Robert Lawrence mean when he says that it would be folly to return to “Fortress America”?

1. What does Lawrence mean by “Fortress America”?

1. According to the video, does Robert Lawrence favor the tariffs placed by the Bush Administration on imported steel?

1. According to the video, why does India have a comparative advantage in the production of transcription services?  

Out-of-Class Activities

1. Visit the web site www.elance.com and study the information there.  Write a one-page paper on “Comparative Advantage in the Service Sector: How the Internet Aids Outsourcing of Jobs.”  In the paper, make sure to explain who would benefit by using the services of the website and who would lose.

2. Search the New York Times, Wall Street Journal, Economist or other major media sources until you find one article that supported the Bush Administration steel tariffs and one article that opposed them.  Prepare a report in which you list the arguments for and against the tariffs.  Does the video “Trade” include arguments different from those you uncovered in your research?

Quiz Questions

1. According to the Solman video “Trade,” the Bush Administration placed tariffs on steel in order to:

1. Insure the benefits of comparative advantage.

1. Enhance economic efficiency.

1. *Support firms and workers that were harmed by foreign competition.

1. Increase employment in U.S. export industries.

2. By the phrase “Fortress America” economist David Lawrence means:

2. An America with a strong and well supplied army.

2. An America that pays more attention to national security issues.

2. Am America that participates fully in the global economy.

2. *An America that erects barriers to trade.

3. According to the Solman video, which of the following best explains why the media contains more articles against free trade than for free trade?  The Solman video argues that:

3. *We take the benefits of free trade for granted.

3. Free trade slows our economic growth.

3. The costs of free trade are spread widely across the economy.

3. Free trade benefits a small sector of the economy.

4. The Solman video “Trade” explains that a lawyer should leave typing to her typist because:

4. The lawyer does not type as well as the typist.

4. Specialization increases productivity.

4. The lawyer has a comparative advantage in typing.

4. *For the lawyer, the opportunity cost of typing is too high.

5. Write an essay on the costs and benefits of free trade making specific reference to information provided in the Solman video “Trade.”

Externalities

The video opens with Professor John Min illustrating a negative externality for his students.  People in John’s neighborhood care a lot about the condition of neighborhood lawns.  Unfortunately, John and his next-door neighbor share a strip of land between their homes that is hard to water.  The result is a brown patch of dirt that John and his next-door neighbor tolerate but that the rest of the neighborhood abhors. Paul Solman explains that the brown lawn is an externality–an unintended cost or benefit that falls on a third party. 


As John begins to lecture on economic remedies for third party effects, a teachable moment occurs.  Mahamood, a student in the class, hears his cell phone ring and takes the call.  John helps his students recognize that the call is a negative externality and asks how its cost might be measured.  The class decides to use tuition as a measure and estimates the cost of the interruption to be $1.50 per minute.


Paul Solman then illustrates why externalities create market failures.  He displays Mahamood’s private marginal cost and marginal benefit curves as functions of the number of calls and points out that Mahamood will take calls up to the point where the marginal benefit just equals marginal cost.  A market failure occurs because Mahamood does not include the disruption to other students in his calculation of costs.  The result is that Mahamood takes too many calls in class.  


What is the solution?  Professor Min decides to levy a tax of $1.50 per minute on cell phone calls in class.  Paul Solman explains how the imposition of this tax shifts Mahamood’s marginal cost curve up and leads him to reduce his use of the cell phone in class.  Now Mahamood will take a call only when the marginal benefits are high enough to justify both the private and social marginal cost of the call. At the end of the video, Paul Solman explains that pollution, aircraft noise and pornography are all examples of negative externalities.    

In-Class Activities

1. Answer the following discussion question.  In what sense do externalities create a market failure?  Why can the imposition of a tax on the externality-producing activity allow the market to function efficiently?

2. Some economist argue that it makes sense for taxpayers in a city to subsidize bus riders by using public funds to keep the cost of a bus ticket low.  How can the marginal benefit and marginal cost schedules introduced in the Solman video be used to support a subsidy for bus riders?

3. Discuss the economic argument for making public buildings “smoke free.”  Why does it make economic sense to ban smoking in public indoor spaces?   

Out-of-Class Activities

1. Visit the web site of Perc, the Property and Environmental Research Center, at  GOTOBUTTON BM_1_ www.perc.org. Use information you find there to report on a way in which economic reasoning is being used to protect and enhance the environment.  In your report, use the concepts of marginal social cost and marginal social benefit to illustrate the market failure and to explain its remedy.

2. Choose an example of a negative externality that occurs in your dormitory, apartment, or Greek house. For example, some would argue that playing loud music after midnight creates a negative externality.  Using the Solman video as a guide, explain the externality in terms of marginal costs and marginal benefits, estimate the size of the externality, design a tax that would provide a remedy, and explain why the remedy works.

Quiz Questions

1. Which of the following is an example of a negative externality from the Solman video?

1. Garbage on the streets of Boston.

2. A beautiful flower garden next to a busy walkway.

3. *Answering a cell phone during an economics class.

4. Chemical pollution of the Delaware River.

2. The production of paper involves a negative externality because it produces chemicals that pollute the environment.  If there is no intervention in the market for paper then the marginal benefits of paper are ___________ the marginal social cost of paper and ________ paper is produced

1. bigger than, too little.

2. bigger than, too much.

3. less than, too little.

4. *less than, too much.

3. A negative externality causes a market failure because:

1. It eliminates trade in the product that involves the externality.

2. It leads to taxes that disrupt the efficient working of markets.


3. *It leads to overproduction of the product that involves the externality.

4. It causes too little capital to be used in production.

4. According to the Solman video, placing a tax on cell phone calls in class

1. *Raises the private marginal cost of taking a cell phone call in class.

2. Raises the private marginal benefit of taking a cell phone call in class.

3. Lowers the private marginal cost of taking a cell phone call in class.

4. Lowers the private marginal benefit of taking a cell phone call in class.

5. It follows from the Solman video that subsidizing the cost of a bus ticket

1. Raises the private marginal cost of taking a bus ride.

2. Raises the private marginal benefit of taking a bus ride.

3. *Lowers the private marginal cost of taking a bus ride.

4. Lowers the private marginal benefit of taking a bus ride.

6. It is very hard to sleep in your college dorm at night because some students stay up and play music at high volume.  Write an essay in which you:

1. Use the concepts of private marginal cost, social marginal cost, and private marginal benefit to explain why too much loud music is played.  Along the way be clear as to what you mean by “too much loud music.”

2. Explain how you could use a tax system to lower the quantity of music to its efficient level.  Along the way, explain the effect of the tax you propose on the marginal costs and benefits faced by those who play music.

7. True or False?  Explain in detail.

Pollution is a problem because those who pollute do not face all the costs associated with their activities.  If polluters had to pay all the costs of their activities, they would pollute less.

8. Bus service provides positive externality because it lowers traffic congestion.  Write an essay in which you use marginal cost and benefit schedules to explain why a private market provides too little bus service.  Suggest a remedy for this market failure and explain why it will work.

The Oprah Curve

In this video, Paul Solman, Robert Gordon, Dan Hamermesh, and Gary Becker investigate labor supply elasticity.  Gordon begins by suggesting that the “supply of Oprah” schedule is vertical.  There is one and only one Oprah.  When Oprah does something, like starting a magazine, she increases demand for her services and the result is a larger increase in her price than would occur if her supply schedule was price responsive.  So, Gordon concludes, the government should not be afraid to raise marginal tax rates for the highest income brackets.  Would Oprah do less if the U.S. government taxed her income at 50 percent instead of 35 percent?  Gordon thinks not. (Instructors should be aware that the Oprah supply curve is drawn with Oprah’s income on the vertical axis thus identifying her income with her price.)

Dan Hamermesh cautions that there is a limit to Gordon’s argument.  There is a tax rate high enough, Hamermesh reasons, that Mick Jagger would stop being a rock star and do something else.  It might be a very high tax rate but, Mick Jagger, like everyone else, has a price below which he would not supply services.

Nobel Laureate Gary Becker argues that, in contrast, most people’s labor supply is highly elastic. History shows, he argues, that if you tell individuals they will receive the same income regardless of their effort, they will work less hard.  He explains that he routinely calculates what he will receive after taxes before he decides whether to accept an invitation and the honorarium attached to it.

So, very rich celebrities are different.  For the most part, they have highly inelastic labor supply schedules while most of us are responsive to the after-tax price we will receive.  At the close of the video, Paul Solman ask viewers what their supply curve looks like.

In-Class Activities

Answer the following discussion questions.  

1. How, according to the Solman video, is the labor supply of most individuals different from the labor supply of a celebrity like Oprah?

2. What does the video mean by the elasticity of Oprah’s supply curve?  

3. Why does Robert Gordon believe that Oprah’s supply schedule is highly inelastic?

4. Why does Dan Hamermesh believe there is a limit to how high marginal tax rates can go?

5. Why does Gary Becker believe that most people have elastic labor supply schedules?

6. According to “Great Explanations: The Oprah Curve,” what would be the implications of raising marginal tax rates for the highest tax brackets to 94 percent as they were in 1944?

7. What would be the benefits?

8. What would be the costs?

9. Do you favor such a change?  Why or why not?

Out-of-Class Activities

1. Watch “The Oprah Curve” and write a one-page essay that explains how and why the labor supply of most people differs from the labor supply of celebrities such as Oprah.  Explain in the essay the implications of labor supply elasticity for income tax policy.

2. Compute your family’s marginal tax rate.  This is easy if your family uses a tax preparation program such as Turbo Tax, but isn’t too hard even if they don’t.  Discuss with the family member who’s responsible for the family finances how much additional after-tax income the family would receive if it earned an extra $1000 in the current tax year.  Don’t forget to consider state and local income taxes and FICA (social security taxes).  Once you and your family member agree on the family marginal tax rate, write a one-page report in which you report the rate and explain whether a rate that high would represent a disincentive for you to supply labor.

Quiz Questions

1. According to “The Oprah Curve,” the supply schedule for Oprah Winfrey is:

1. Vertical which means very responsive to price.

2. Horizontal which means very responsive to price.

3. *Vertical which means completely unresponsive to price.

4. Horizontal which means completely unresponsive to price.

2. According to “The Oprah Curve,” regular people are different from celebrities like Oprah because regular people:

1. Have more elastic demand curves for goods.

2. *Have more elastic supply curves for labor.

3. Have less elastic demand curves for goods.

4. Have less elastic supply curves for labor.

3. According to the Solman video on the Oprah curve, what do Mick Jagger and Oprah Winfrey have in common?  For the most part, both Oprah and Mick:

1. Have inelastic demand for luxury goods.

2. *Have inelastic supply of labor.

3. Are likely to work less if the government raises their income taxes by one percent.

4. Should be taxed at lower rates because doing so would create a lot of jobs.

4. In “The Oprah Curve,” Paul Solman interviews Nobel Laureate Gary Becker.  Becker suggests that before accepting an invitation to speak he routinely:

1. *Computes the income he will receive after taxes.

2. Computes what desirable goods he can buy with his honorarium.

3. Determines how he can shelter his honorarium from federal tax.

4. Determines what his foreign-currency honorarium is worth in dollars.

5. Write an essay in which you explain the implications of labor supply for income tax policy.

Marginal Cost=Marginal Benefit

In the late 1800's, Alfred Marshall wrote what for years was the most widely read textbook in economics.  In it, Paul Solman explains, Marshall introduced his readers to marginal thinking and to the concepts of marginal cost and marginal benefit.  He did so with a story that asks: “when should you stop picking berries?”.

The video changes scene to a family outing to a blueberry grove.  As we watch a young boy picking berries, we listen to a reading of Marshall’s story.  Picking the first berry entails benefits that far outweigh the costs.  But as more are picked, boredom sets in and marginal cost rises.  As more are eaten, the pleasure derived from eating another falls.  Marginal thinking predicts that the boy will stop when marginal benefits fall below marginal costs.

Paul Solman uses the story to explain what is behind the downward sloping demand curve and the upward sloping supply curve.  Supply curves slope upward, he explains, because marginal costs of production rise with quantity.  Demand schedules slope downward because marginal benefits fall with quantity.

From the point of view of a consumer, market price and thus marginal cost are constant.  Economist Mary Stevenson applies marginal analysis to a decision to enjoy an ice cream cone on the first warm spring day.  The price, and marginal cost, of the cone is $2.00.  The first cone is worth $3.00 to the consumer so they buy and enjoy it.  Because they have already had one, the marginal benefit of a second cone is less, only $2.50.  But since marginal benefit is still greater than marginal cost, the consumer buys a second cone.  By now, suggests Stevenson, marginal benefit has fallen below marginal cost and the consumer declines a third cone.

Nobel Laureate Paul Samuelson summarizes.  A berry picker will weigh the extra exertion required to pick another berry against the extra pleasure of having it.

In-Class Activities

Answer the following discussion questions.

1. According to the Solman video, when do you stop picking berries?

1. What does the video mean by marginal cost?

1. What does the video mean by marginal benefit?

1. Why does it make sense to pick berries only as long as marginal benefit is greater than marginal cost?

1. According to the Solman video “Marginal Cost=Marginal Benefit,” is the connection between marginal cost, marginal benefit, and the shapes of the demand and supply schedules for berries?

Out-of-Class Activities

1. Conduct the following experiment with a student who is not a member of this class.  Buy a bag of “Hershey Kisses” or some other individually wrapped treat.  Explain to the student that they will have an opportunity to buy the kisses from you at a bargain price provided that they eat them immediately after buying them.  Offer to sell a first “Hershey Kiss” for 5 cents.  Presumably, your subject will agree.  Exchange the candy for the money and wait while your subject consumes it.  Now offer a second.  Proceed in this way until the subject refuses another “Hershey Kiss.”  Ask the subject why they are turning down such a great deal.  Record the number of “Kisses” your subject consumed and their answer to your question on a sheet of paper.  Turn in your report to your instructor who will report the overall results of the experiment later in the course.

2. Read Chapter 2, Book 5 of Alfred Marshall’s Principles of Economics, which is available online at http://socserv.mcmaster.ca/~econ/ugcm/3ll3/marshall/index.html.  Write a report that explains what Marshall has to say about marginal analysis.

Quiz Questions

1. According to the Solman video, “Marginal Cost=Marginal Benefit,” you stop picking berries when:

1. The marginal benefit of another berry is no longer positive.

1. The marginal cost of a berry has risen above its price.

1. *The marginal benefit of another berry has fallen below its marginal cost.

1. The marginal cost of a berry has fallen below its price.

2. According to “Marginal Cost=Marginal Benefit,” the fact that the demand schedule for berries slopes downward is due to the fact that:

2. The marginal cost of berries rises as the quantity picked increases.

2. The marginal cost of berries falls as the quantity picked increases.

2. The marginal benefit of berries rises as the quantity consumed increases.

2. *The marginal benefit of berries falls as the quantity consumed increases.

3. According to “Marginal Cost=Marginal Benefit,” the fact that the supply schedule for berries slopes upward is due to the fact that:

3. *The marginal cost of berries rises as the quantity picked increases.

3. The marginal cost of berries falls as the quantity picked increases.

3. The marginal benefit of berries rises as the quantity consumed increases.

3. The marginal benefit of berries falls as the quantity consumed increases.

4. The video “Marginal Cost=Marginal Benefit” gives as an example of marginal analysis the decision to consume one or more ice cream cones on the first warm summer day. If the cone costs $2.00, a consumer should:

4. Keep looking for a lower price seller.

4. Consume additional cones as long as marginal cost remains higher than marginal benefit.

4. *Consume a second cone if doing so results in at least two dollars worth of enjoyment.

4. Add the cost of the cone to a computation of the opportunity cost of a day in the park.

5. Write an essay in which you explain how to apply Alfred Marshall’s marginal analysis to the decision to purchase pizza from the pizzeria that sells it by the slice.

Pareto Optimality

What’s so good about market equilibrium with price at a level where quantity demanded equals quantity supplied?   Paul Solman explains that market equilibrium is efficient or Pareto optimal, and that Pareto optimality means that no change is possible that will make someone better off without hurting someone else.  But, efficiency is not the same thing as fairness.

To further explain why market equilibrium is Pareto optimal, Solman introduces the concept of economic surplus and applies it to the market for MP3 players.  Each producer who can produce an MP3 player for less than market price earns a bonus.  Add those bonuses up and one gets producer surplus.  Each consumer who is willing to pay more than market price for an MP3 player also earns a bonus.  Add those bonuses up to get consumer surplus.  The sum of producer and consumer surplus is called total surplus.  Only at the price where demand equals supply is surplus as large as possible.  Suppose the government set a price on MP3 players above the market equilibrium.  Consumers who are willing to pay the equilibrium price but not the regulated price are hurt.  Firms who would willingly supply those MP3 players are also hurt.  The regulated price cannot be Pareto optimal because lowering the price back to equilibrium would help some consumers and some producers without harming anyone.  (Instructors should be careful here.  The decline in price lowers producer surplus and raises consumer surplus for those units that would have been sold at the higher price but the winning consumers could compensate the losing producers.  Lowering the price creates new surplus on the additional items sold.)

But, Solman explains, economic efficiency and Pareto optimality have nothing to do with economic justice.  For help in explaining why, Solman turns to economist Cecilia Conrad who tells a story about Pecan Pie.  One Thanksgiving when she was a child, Cecilia was visited at Thanksgiving by her six cousins.  Cecilia had to leave before dessert so she asked her mom to save a piece of pie for her.  Her mom did but one cousin took it from the refrigerator and ate it before Cecilia returned home.  Cecilia explains that the allocation of pie that occurred was Pareto optimal.  It would not have been possible to make Cecilia better off without making a cousin worse off.  The allocation where Cecilia got a piece of the pie would also have been Pareto optimal. Cecilia agrees that the first allocation was Pareto optimal but exclaims that it was certainly not fair.

Solman expands on Cecilia’s point.  A market equilibrium does price people out of the market.  We may not care very much that some people believe that an MP3 player is too expensive to buy.  But, he says, what about those people who go hungry because food is too expensive?  Yes, a market equilibrium is efficient and produces the largest possible surplus.  But sharing that surplus with the disadvantaged is another matter – a matter that requires a political decision.  Efficiency and justice are not the same thing.

In-Class Activities

Answer the following discussion questions.  

1. According to the Solman video, what is the difference between Pareto optimality and fairness?

1. Why does Solman believe it is important for goods to be allocated efficiently?

1. Why does Solman say that efficiency does not guarantee justice?

1. What is the relevance to the discussion of Cecilia Conrad’s pecan pie story?

1. According to the video, would it be better to lower food prices below their equilibrium levels so that the poor could afford more food?

1. Divide the class into groups.  Ask group members to share stories, like the pecan pie story, that illustrate that fairness and efficiency are different.  Have each group choose their best illustration and report it to the class.  The instructor will use the stories to help students better understand the meaning of economic efficiency and the difference between economic efficiency and fairness.

Out-of-Class Activities

1. Write an essay that explains why setting a price above the market equilibrium value is not Pareto optimal.  The essay should make clear why, given such a price, it is possible to obtain a new allocation of goods that helps some people without hurting others.

2. Visit the U.S. Department of Agriculture web site and research the food stamp program administered by the USDA (http://www.fns.usda.gov/snap/).   Based on your research, write an essay about how the food stamp program attempts to achieve a more fair allocation of resources while preserving economic efficiency.

Quiz Questions

1. When a consumer is willing to pay $300 for an MP3 player that has a market price of $250, Paul Solman says that: 

1. The producer of the MP3 player obtains a bonus.

1. The result is not fair.

1. The result is not efficient.

1. *The consumer of the MP3 player obtains a bonus.

2. The point of Cecilia Conrad’s pecan pie story is that: 

2. Efficiency guarantees fairness.

2. Economic growth is important because it produces a larger pie.

2. We should not subsidize pecan growers.

2. *An efficient allocation need not be fair.

3. According to the Solman video on Pareto Optimality, a market equilibrium is efficient because it results in:

3. Producer surplus greater than consumer surplus.

3. Consumer surplus greater than producer surplus.

3. *The largest possible surplus.

3. No surplus at all.

4. When a producer is willing to sell an MP3 player for $200 that has a market price of $250, Paul Solman says that: 

4. The consumer of the MP3 player obtains a bonus.

4. The result is not fair.

4. The result is not efficient.

4. *The producer of the MP3 player obtains a bonus.

5. Write an essay in which you explain the difference between an efficient allocation of goods and a fair allocation of goods.

Elasticity

Why in the winter of 2000-2001 did natural gas prices rise from $2.00 to $8.00 per thousand cubic feet?  The weather was severe–cold in New England, hot in California, and dry in the Pacific Northwest meaning less hydro power.  But why was the price increase so large?  The large price increase is puzzling because shifting out the demand schedule by an appropriate amount would predict a far smaller price increase when the demand and supply schedule have the normal straight line shapes that the videos have used so far. 

The answer, explains Paul Solman, requires an understanding of elasticity, how much demanders or supplier respond to a change in price.  Solman explains that elasticity is always measured as a percent.  He reports data that shows how quantity demanded of baseball tickets is predicted to respond to a price increase, computes an elasticity of .23 and explains the finding.  He asks viewers to take an elasticity quiz.  Demand for bread, auto repairs, and movie tickets are inelastic which demand for restaurant meals is elastic. Finally, he explains why elasticity of demand is different at different points along a straight line demand schedule.

Now, says Solman, we are ready to return to our puzzle.  Solman explains that inelastic demand for natural gas is part, but not all, of the explanation.  A graphic shows that the same demand shift will generate a larger price increase if the demand schedule is more inelastic but that it is still impossible to generate the quadrupling of prices observed in 2000-2001.  The rest of the answer, Solman explains, is that supply of natural gas is also very inelastic in the short run.  Solman interviews gas pipeline inspector Larry Strayhorn who explains that the natural gas industry has taken many drilling rigs offline and that it will take time to increase production.  Paul Solman explains a graphic that show accurate shapes for demand and supply of natural gas and shows that shifts of an inelastic demand schedule in the highly inelastic segment of the supply schedule explains the huge rise in natural gas prices.  Solman suggests that the supply of natural gas is more elastic in the long run which means that natural gas prices should drop a lot as new supplies come on line.

In-Class Activities

Answer the following discussion questions.  

1. According to the Solman video, why does elasticity have to do with the huge increase in the price of natural gas observed during the winter of 2000-2001?

1. How large was the increase in the price of natural gas?

1. What does Paul Solman mean when he says that elasticity means responsiveness to price?

1. According to the video, why can’t inelastic demand alone explain the large increase in the price of natural gas?

1. What evidence does the video present the supply of natural gas was also inelastic?

1. Why can inelastic demand and inelastic supply combine to explain the large increase in the price of natural gas?

1. What does elasticity have to do with Solman’s prediction that the price can come down by a lot in the future?

1. The Solman video hints that inelastic demand is a temptation for suppliers to collude.  Explain what the video means.

Out-of-Class Activities

1. The video provides students with an excellent opportunity to reinforce their understanding of elasticity.  Instructors should routinely suggest that students watch the video after they have read the text.

2. Watch the video “Elasticity” and then write an essay that explains how inelastic demand and inelastic supply combined to produce a large increase in the price of natural gas during the winter of 2000-2001. 

3. Find natural gas price data. Website www.wtrg.com/daily/oilandgasspot.html is one possibility.  Use the data to identify periods when the price of natural gas was unusually high.  Write a report in which you document your findings and interpret them in light of the Solman video.

Quiz Questions

2. According to “Elasticity,” the large increase in natural gas prices that occurred during the winter of 2000-2001 resulted from an increase in the demand for natural gas and the fact that: 

2. Demand and supply were both elastic.

2. Demand was inelastic and supply was elastic.

2. Demand was elastic and supply was inelastic.

2. *Demand and supply were both inelastic.

3. According to the Solman video on elasticity, demand is elastic for which of the following consumer products?

3. Bread.

3. *Restaurant meals.

3. Movie tickets.

3. Auto repairs.

4. An inelastic supply schedule helps explain why an increase in demand raises prices a lot because it implies that: 

4. Consumers are competing for a reduced quantity of the good.

4. There is more of the good but consumers place little value on it.

4. *Consumers want more of the good but little more is available.

4. Producers respond strongly to the fact that consumers want more of the good.

5. In the video “Elasticity,” Paul Solman says that if the price of baseball tickets rose by one percent, the number of tickets purchased would fall by one-quarter of one percent.  In economic terms, this means that:

5. Supply of baseball tickets is inelastic.

5. Supply of baseball tickets is elastic.

5. *Demand for baseball tickets is inelastic.

5. Demand for baseball tickets is elastic.

6. Write an essay in which you explain how elasticity of demand and supply figure into an explanation of the large increase in the price of natural gas that occurred in the winter of 2000-2001.  Make at least three specific references to the Solman video on elasticity.
What Does “Profit” Mean?

Profit, says Paul Solman, is the pot of gold sought by entrepreneurs.  But what economists mean by profit is different from what most mean.

In the video, Solman visits the Business Plan Competition at Babson College where teams of students try to convince a panel of judges that their business plan will be the most profitable.  The video uses Team Kismet’s plan to illustrate three definitions of profit.  Team Kismet proposes a restaurant that will provide a relaxed and romantic experience for its target diners – dating couples.  

What most people call profit, explains Solman, is accounting profit defined as the difference between revenues and explicit costs such as labor and raw materials.  If Kismet had revenues of $310,000 and explicit costs of $300,000, it would make an accounting profit of $10,000.  But explicit costs are only a part of all the costs of a business.  There are implicit costs as well.  Implicit costs, explains Solman, include the opportunity cost of the entrepreneur’s time, the opportunity cost of an investor’s funds, and the value of alternative uses of other ways to use project resources like a home office.  When revenue is just high enough to cover both explicit and implicit costs, economists say the firm makes a normal profit.  

Of course, entrepreneurs want as much profit as is possible.  Solman goes on to explain that when a firm has revenues greater than the sum of explicit and implicit costs, the firm earns an economic profit.  Economic profit is the entrepreneur’s pot of gold.

In-Class Activities

Answer the following discussion questions.  

5. According the Solman video, why is economic profit smaller than accounting profit?

5. Why do economists believe that a firm’s costs are greater than the firm’s accountants say they are?

5. Why is it important for firms that are making an accounting profit to know whether or not they are making an economic profit?

5. According to the video, what is the practical significance of normal economic profit?

5. Do you believe that the concepts of normal and economic profit are relevant for business decision-making?  Why or why not?

5. Discuss the relationship between “economic profit,” “implicit costs,” and “opportunity costs.”

Out-of-Class Activities

1. Write an essay that explains what it means for a firm to make positive accounting profit but negative economic profits and what the firm should do about it.

2. Visit the web site of the Arthur M. Blank Center for Entrepreneurship at Babson College (http://www3.babson.edu/ESHIP/outreach-events/bplancompetitions.cfm) and examine the business plan of the most recent winner of the Business Plan Competition.  Prepare a report in which you explain the plan and list the implicit costs the plan has not taken into account.

Quiz Questions

1. Kismet restaurant has revenues of $350,000, and explicit costs for labor, rent and food of $300,000.  The restaurant’s owner believes she could find an alternative full-time job earning $60,000 as an executive chef.  Economists would say that Kismet earns: 

1. A positive accounting profit and a positive economic profit.

1. *A positive accounting profit and a negative economic profit.

1. A negative accounting profit and a positive economic profit.

1. A negative accounting profit and a negative economic profit.

2. Which of the following is a good example of an implicit cost that should be taken into account when computing a restaurant’s economic profit?

2. Food that is wasted because of a slow day.

2. The cost of fixing the restaurant’s freezer.

2. *The interest the owner could obtain by lending money tied up in the restaurant.

2. The rent the owner must pay on the restaurant space.

3. Which of the following is a good example of an implicit cost that should be taken into account when computing a restaurant’s economic profit?

3. The wages of an employee who does not work hard.

3. The cost of the licenses that the restaurant must obtain from the city.

3. Payments the restaurant makes on leased kitchen equipment.

3. *The value of the home office in which the owner keeps company records.

4. According to the Solman video on the meaning of profit, which of the following is a correct ranking of profits from largest to smallest?

4. *Accounting profit, normal profit, economic profit.

4. Accounting profit, economic profit, normal profit.

4. Normal profit, accounting profit, economic profit.

4. Economic profit, normal profit, accounting profit.

5. Write an essay in which you explain why economic profit is smaller than accounting profit and the relevance of this fact for business decision making.  A good essay will make specific reference to information in the Solman video “What Does ‘Profit’ Mean?”

“Pure” or “Perfect” Competition

In search for examples of perfect competition, Paul Solman visits a water polo practice.  But the team is not the example – the chlorine used to purify the water is.  Solman explains the best examples of perfectly competitive industries are industries that produce commodities.  

Solman reviews the characteristics of a competitive industry: lots of sellers, a standardized product, no seller controls price, easy entry and exit, and full and symmetric product information.  He then turns to Dan Hamermesh who explains that perfect competition is an assumption like the physics assumption of a frictionless pulley.  The fact there is no such thing as a frictionless pulley does not imply that the concept is useless.  In like manner, Hamermesh explains, perfect competition is useful because it explains a lot of what goes on in a lot of industries.

The video next explains an important implication of perfect competition – price taking.  In a perfectly competitive industry, all suppliers take price as given by the market and beyond their influence.  To learn more about competition, Paul Solman returns to the Babson College competition in which teams try to convince a panel of judges that their business plan is best.  

The video reports on several plans.  One is for a “History Shop” that will cater to the interests of history buffs.  A second is for a new product called the “Slender Sleeve,” a medical weight loss device that is a substitute for GI stapling procedures.  A third is for a new process for producing ferrate, a water purification salt that is a substitute for chlorine.  Paul Solman explains that each team is trying to circumvent the forces of perfect competition by creating a new product.  Several teams plan to patent their product and block other firms from making exactly what they will make.  All hope to make higher than normal profits for their investors, which is not possible under perfect competition.

Sure, Dan Hamermesh agrees, we have few industries that satisfy all the conditions for perfect competition.  But for many industries, perfect competition provides a good description of what goes on.  Who wins the Babson competition?  Watch the video to find out.

In-Class Activities

Answer the following discussion question.  


1.
According to the Solman video, what can we learn about perfect competition from the Babson College business plan competition?

Discuss the following questions.  

5. According to the Solman video, what does it mean to “take price as given”?

5. Why do firms in a competitive industry have no control over market price?

5. What strategies are proposed in the Babson College competition to obtain control over market price?

5. If most firms try to gain control over their price, why do economists bother with a model of perfect competition? 

Out-of-Class Activities

1. Write an essay on the theme that perfect competition is to economics like the frictionless pulley is to physics.

2. Visit the web site of the Arthur M. Blank Center for Entrepreneurship at Babson College (http://www3.babson.edu/ESHIP/outreach-events/bplancompetitions.cfm) and research the results of the most recent Business Plan Competition.  Write an essay explaining how the winning business plan attempted to circumvent the forces of perfect competition.

Quiz Questions

2. According to Professor Dan Hamermesh, perfect competition is a useful economic model because:

2. Most industries produce commodities.

2. Entry and exit are easy for commodity producers and others.

2. *It provides a good description of what goes on in most industries.

2. It provides an ideal for business organization.

3. According to the video “Pure or Perfect Competition,” business firms attempt to make higher than normal profits by:

3. *Obtaining a patent on their product.

3. Producing a commodity.

3. Entering and industry and then exiting quickly.

3. Focusing on time-honored products and production techniques.

4. According to the video “Pure or Perfect Competition,” the team that wins the Babson College business plan competition is the team that proposes to produce:

4. A chemical compound that substitutes for chlorine.

4. *A medical weight loss sleeve.

4. An online shop that caters to history buffs.

4. A restaurant that offers a romantic dining experience.

5. In his video “Pure or Perfect Competition,” Paul Solman explains most entrepreneurs:

5. Produce in competitive industries and earn economic profits.

5. *Hope to make economic profits by becoming the sole supplier of a new product.

5. Hope that their economic profits are greater than their accounting profits.

5. Avoid the forces of competition by producing a commodity.

6. Write an essay in which you explain what the Solman video, “Pure or Perfect Competition,” teaches economic models of competition.  Make at least three specific references to information from the video.

Competition and Deregulation
The video begins with a 1950's advertisement for Pan American Airlines that shows how luxurious flying was under regulation.  Through the magic of video technology, Paul Solman himself relaxes in a wide coach seat and watches other passengers enjoy a delicious meal.

He quickly points out that flying was expensive under regulation.  A trip for three to London in the 1950's cost over $10,000 in today’s dollars; a trip between LA and Miami for three cost $2000.  


Solman explains that de-regulation is “creative destruction.”  Allowing market forces to determine the price and quantity of air travel is better for some and worse for others.  He introduces a demand and supply graph for air travel where the price per mile is displayed on the vertical axis while the quantity of passenger miles is displayed along the horizontal.  Under regulation, he explains the price was set above its market equilibrium resulting in a surplus that the airlines translated into wider seats and added legroom.


The scene shifts.  Paul Solman interviews Alfred Kahn, the economist from Cornell University whom President Carter asked to help de-regulate airlines in the U.S..  Paul points out to Kahn that some airlines have failed as a result of deregulation.  Kahn says that deregulating the airlines was the greatest thing he ever did as an economist. 


The result of deregulation was an increase in the supply of passenger miles as new airlines entered the industry.  The increase in supply lowered price dramatically but actually raised airline revenue because demand for miles was price elastic.  Kahn points out that with the lower prices many more individuals including those who earned lower incomes could afford to fly.  He emphasizes that airline safety was never deregulated and that air transport is safer now than ever.  He agrees that airline travel is less comfortable but points out that high comfort is available in first class to those who are willing to pay what it costs.  He believes deregulation increased economic efficiency–before deregulation airlines operated at 58 percent of capacity.  Now they operate above 70 percent of capacity.


Kahn acknowledges that competition is destructive but points out that we tolerate the effects of competition in industries like the restaurant industry.  Competition is part of a market economy.  It is the force that regulates profits and promotes the efficient use of resources.


Paul Solman provides some data.  The cost of flying a passenger mile varies greatly among current airlines.  Jet Blue flies passengers for six cents a mile; Southwest for seven.  On the other end of the range, US Airways has a cost per passenger mile of 14 cents.  Professor John Min suggests that a quick look at the per-mile cost of airlines provides a good basis for predicting which are in bankruptcy and which are profitable.


The bottom line is that competition is the source of real protection for the consumer in a market economy.  In the end, Alfred Kahn believes the benefits produced by deregulating the airlines in the U.S. far outweighed the costs.    

In-Class Activities

1. Discuss the following question.  Why, according to the Solman video, did the benefits associated with deregulation of U.S. airlines exceed the costs?  What were the benefits and costs?  Provide examples of individuals who were better off when the airlines were regulated and individuals who are better off under deregulation?  Why does Alfred Kahn believe that the benefits of deregulation were greater than the costs?

2. Discuss the following questions about how the Solman video on airline deregulation uses demand and supply analysis.

a. Why does the video claim that there was surplus capacity in the airline industry under regulation?

b. Why according to the video did the supply of airline passenger miles increase after deregulation?

c. Why according to the video, did airline revenues increase after deregulation?

Out-of-Class Activities

1. Read the entry by Alfred Kahn about airline deregulation in the Concise Encyclopedia of Economics ( GOTOBUTTON BM_2_ http://www.econlib.org/library/Enc/AirlineDeregulation.html).  Write a one- page essay that summarizes Kahn’s argument that the benefits of deregulating the airline industry outweighed the costs.

2. Professor John Min says, in the Solman video, that one can predict the airlines that are in danger of bankruptcy by looking at their cost per passenger mile.  Research Professor Min’s claim by finding the per passenger mile cost of profitable airlines such as Jet Blue and Southwest and comparing those numbers to the per passenger mile cost of non-profitable airlines such as United and U.S. Airways.

Quiz Questions

1. According to the Solman video, deregulation of airlines in the United States causes  _________ in the price of airline travel and ___________ in the amount of travel.

1. A decrease, a decrease

2. *A decease, an increase

3. An increase, a decrease

4. An increase, an increase

2. Which of the following is the best explanation of the term “creative destruction” used in the Solman video on airline deregulation?  Creative destruction means that the deregulation of airlines_____________.

1. Reduced airline safety.

2. Destroyed popular confidence in the airline industry.

3. *Led to the failure of some airlines and the creation of others.

4. Created congestion at airports.

3. The Solman video explains that airline deregulation made some better off and others worse off.  Which of the following statements is true?

1. *Deregulation made travelers better off by making air travel more affordable.

2. Deregulation made safety conscious travelers worse off.

3. Deregulation made better off travelers who like to travel in comfort.

4. Deregulation made worse off travelers who have low incomes.

4. At the time the Solman video on airline deregulation was made, the per-passenger-mile costs of air travel were at the levels given in the following table. 


Airline

Cost per Passenger Mile (in cents)

Jet Blue


  6


Southwest


  7


AirTran


  8


US Airways


14


Which of the following statements draws a correct inference from these cost data?

1. U. S. air is the most successful airline because it provides its customers with higher cost travel.

2. Airlines are profitable if their cost is less than 14 cents per passenger mile.

3. Of the four, Jet Blue is the airline that is most likely to suffer bankruptcy.

4. *Of the four, U.S. Airways is the airline that is least likely to be profitable.

5. According to the Solman video, which of the following airlines produces air travel at the lowest cost per passenger mile of the four?

1. American Airlines

2. United Airlines

3. Delta Airlines

4. *Southwest Airlines

6. Write an essay in which you use information presented in the Solman video on airline deregulation to explain how competition among producers ultimately benefits consumers.

7. Write an essay in which you explain the sense in which deregulation of the airline industry was an act of “creative destruction.”  Make sure you define “creative destruction” and cite specific information from the Solman video on airline deregulation.

The Federal Reserve Bank’s Primary Role

The message of this video is that the mission of the Federal Reserve is to steer a steady course that avoids the perils of inflation and unemployment.  Paul Solman joins Nobel economists Franco Modigliani and Robert Solow on a day sail out of Martha’s Vineyard.  Modigliani suggests that the problem faced by the Fed is similar to the problem faced by Odysseus in Homer’s Odyssey.  In his voyages, Odysseus had to navigate a course between two rocks – one that was home to a six-headed serpent named Scylla and one that was home to a boat-eating Whirlpool, Charybdis.  The video likens Scylla to inflation and Charybdis to recession.

How does the Fed steer its ship?  If the Fed wants to stimulate the economy, it raises monetary growth and lowers interest rates.  If the Fed wants to cool the economy, it lowers monetary growth and raises interest rates.  

Is Scylla so bad?  After all, the U.S. has not experienced serious inflation for over 20 years.  Franco Modigliani answers that the costs of inflation are great.  They include very high interest rates, an ever-declining value of pensioner’s income, and the fact that inflations are hard to stop once they get going.  

To illustrate how costly inflation can be, the video turns to the case of Bolivia and to economist Jeffrey Sachs, who advised the Bolivian government in the 1980s.  Sachs reports that Bolivian inflation was rampant – as high as 50,000 percent per year, with prices doubling every month. He says the key to stopping inflation was to stop printing money and lower budget deficits.  These were costly medicines.  They implied, for example, that Bolivian tin miners would respond to a decrease in their government subsidies with political action.

Solow and Modigliani caution that while the inflation Scylla is a bad monster, steering too far clear from it risks Charybdis – a recession.  Community counselor Greg Le Roy explains that the chronically unemployed suffer in many ways.

In the end, a Federal Reserve Chairman like Alan Greenspan must constantly monitor the economic seas to steer a course between inflation and recession.

In-Class Activities

Discuss the following questions.

1. According to “The Federal Reserve Bank’s Primary Role,” why is Alan Greenspan like Odysseus of Homer’s Odyssey? 

2. What, according to the video, is the connection between the perils faced by Odysseus and the perils faced by Alan Greenspan?

3. What evidence does the video present that inflation and unemployment are truly perilous?

4. How, according to the video, does Greenspan steer his ship?

5. According to “The Federal Reserve’s Primary Role,” why is inflation costly to stop once it gets started?

6. What are the costs of inflation?

7. How does the case of Bolivia illustrate the costs of stopping an inflation?

Out-of-Class Activities

1. Read book XII of the Odyssey (http://classics.mit.edu/Homer/odyssey.12.xii.html).  Write an essay in which you report on Odysseus’ encounter with Scylla and Charybdis and explain more fully how the Federal Reserve Chair is like Odysseus.

2. Go online and find evidence about a hyperinflation other than the one in Bolivia.  Write a report in which you explain the costs of the hyperinflation, how it was stopped, and whether stopping the hyperinflation was itself costly.

Quiz Questions

1. The Solman video “The Federal Reserve Bank’s Primary Role” likens the problem of monetary policy with one of the perils faced by Odysseus in Homer’s Odyssey.  Which of the following correctly maps characters from the Odyssey into aspects of monetary policy?

1. Scylla is the Chair of the Federal Reserve Board.

2. Scylla is recession.

3. Charybdis is Chair of the Federal Reserve Board.

4. *Charybdis is recession.

2. The Solman video “The Federal Reserve Bank’s Primary Role” likens the problem of monetary policy with one of the perils faced by Odysseus in Homer’s Odyssey.  Which of the following correctly maps characters from the Odyssey into aspects of monetary policy?

1. *Odysseus is Chair of the Federal Reserve Board.

2. Odysseus is inflation.

3. Scylla is Chair of the Federal Reserve Board.

4. Scylla is recession.

3. According to “The Federal Reserve Bank’s Primary Role” all of the following are costs of inflation except:

1. High interest rate payments.

2. Declining value of pensions.

3. *Inventories that reach inefficient levels.

4. Ever-higher costs of stopping inflation.

4. According to the Solman video “The Federal Reserve Bank’s Primary Role,” if the Fed wants to stimulate the economy, it:

1. Lowers the money supply and lowers interest rates.

2. *Raises the money supply and lowers interest rates.

3. Lowers the money supply and raises interest rates.

4. Raises the money supply and raises interest rates.

5. Write an essay in which you explain how the job of the Chair of the Federal Reserve Board is like a problem faced by Odysseus in the Odyssey.

The Business Cycle

The roller coaster is a good metaphor for the business cycle because every climb is followed by a plunge.  In the video, Paul Solman provides examples of boom and bust cycles in the United States and Japan, and visits John Sterman’s class at MIT to learn about the possible causes of cycles.

Booms and busts are part of our past and our present.  The video reminds viewers that the roaring 20s was followed by the stock market crash and the Great Depression.  In Japan, a boom in the 1980s raised the price of modestly sized Tokyo apartments to over six million dollars.  In 1990, Japan crashed.  During the 1990s, the U.S. experienced its most recent boom.  Developer Paul Quinn recounts that in a few days he received 150 deposit checks each for $5000 to hold condominiums in a new development.  Boston cabbie Carlos Rubino monitored the stock market and made trades from his cab.  As the 1990s gave way to the new millennium, bust followed boom.  Many of the condos that Quinn built are still vacant and real estate prices have fallen dramatically in areas like Silicon Valley, where just years before they reached all time highs.

What causes cycles?  Students in John Sterman’s course play the “Beer Game” to learn about one theory of cycles.  In the game, cases of beer pass through several stages on the way to end-users.  First, beer is produced, then sent to distributors, then to wholesalers, and finally to retailers.  But orders flow in the opposite direction.  They are initiated by retailers and the impact of a change in orders takes several weeks to affect production.  The video shows what typically happens when the game is played.  The decision makers at each stage are trying to keep inventory steady.  They don’t want to bear the costs of inventories that are too high, but they don’t want to stock out either.  Despite their best efforts, big swings in inventories and production occur and at the end of the game all the “upstream” managers are convinced that Sterman rigged the result by providing retailers with customer demands that cycled wildly.  This is not true.  End-user demand started at one level and increased to a higher level in round four and remained constant thereafter.  The decision makers created the cycles by overreacting to demand.  Sterman concludes that cycles are with us always because we produce them.

In-Class Activities

Discuss the following questions.  

1. Why according to “The Business Cycle” do business cycles occur?

2. Why do cycles occur in the “Beer Game”?

3. What evidence presented in the video shows that cycles occur regularly in the U.S.?

4. How would John Sherman apply the lessons of the “Beer Game” to cycles in U.S. real estate markets?

The “Beer Game” is available from Professor Sterman and the Sloan School of Management for

a modest fee.  See http://web.mit.edu/jsterman/www/ for details.

Out-of-Class Activities

1. Watch the video “The Business Cycle” and write a one-page essay that explains why


business cycles are like roller coaster rides.

2. Download data describing total business inventories from Fred II, the data facility of the Federal Reserve Bank of St. Louis (http://research.stlouisfed.org/fred2/series/BUSINV/).  Graph the data and write a brief report explaining whether business inventories behaved between 1994 and 2004, as the Beer Game would predict.

Quiz Questions

1. Which of the following reasons for business cycles is revealed by playing the “Beer


Game”?  Cycles are caused by:

1. Wide swings in final-user demand for goods.

2. *Over-reaction by inventory managers to changes in demand.

3. Price increases that occur during a boom.

4. Over-reaction by consumers to changes in income.

2.
According to “The Business Cycle,” which of the following U.S. industries is particularly susceptible to booms and busts:

1. *Real Estate.

2. Alcoholic beverages.

3. Transportation.

4. Amusement Parks.

3. The Solman video uses a roller coaster ride to symbolize:

1. *The fact that economic busts often follow economic booms.

2. The rise and fall in energy prices that occur as winter comes and goes.

3. The rapid growth in the U.S. entertainment industry.

4. An example of an industry strongly affected by changes in technology.

4. According to the Solman video “The Business Cycle,” business cycles:

1. *Occur regularly and are produced by forces within an economy.

2. Occur regularly and are produced by forces outside an economy.

3. Occur infrequently and are produced by forces within an economy.

4. Occur infrequently and are produced by forces outside an economy.

5. Write an essay in which you explain the theory of business cycles that is embodied in the


“Beer Game.”

Macroeconomics: Fiscal Policy

Macroeconomics was born of the Great Depression.  The video explains that textbooks of the 1930s suggested economies should be left to adjust on their own during recessions.  But during the Great Depression, automatic adjustments were slow to occur if they occurred at all.  The Depression seemed to feed on itself as one round of layoffs caused unemployed workers to spend less, lowered demand, and triggered another round of layoffs and plant closings.

In the video, Paul Solman explains the Great Depression gave rise not only to macroeconomics but also to the view that government can and should take a roll to offset recessions.  The Great Depression led to the rise of Fascism in some nations and to belief in others that Communism was the answer.  In the United States, the answer took a different form–a more direct role for government in economic activity.  The video explains the WPA, Works Progress Administration, undertook 120,000 different projects that put people to work and provided them with income.  As Solman explains, because consumption and investment were low, government increased its own spending to raise aggregate demand and national output.

The video introduces a new graph that it uses to tell the story of the Great Depression.  It shows an aggregate supply schedule with a horizontal segment at low output levels and a vertical segment at full capacity.  It shows the standard aggregate demand schedule.  It depicts the Great Depression as caused by a large decrease in aggregate demand that was eventually offset by a rise in government spending.

Why didn’t the economy come out of the Depression on its own?  Economist Scott Simkins points out that prices and wages are sticky. Robert Gordon explains that prices and wages do not adjust automatically.  In the face of big demand changes, prices and wages can get “out of whack.” Left to itself the macro economy might adjust very slowly – too slowly to provide relief for the unemployed.

Paul Solman concludes that the Great Depression was an example of a decrease in aggregate demand that was not quickly remedied by market adjustments.  Increases in government spending raised aggregate demand and provided a remedy.

In-Class Activities

Discuss the following questions.  

1. According to the Solman video, why was fiscal policy necessary during the Great Depression?

2. What did economists in the 1930s believe to be the remedy for a recession?

3. How do the views of economists like Robert Gordon differ from those older views?

4. In-class problem.  Watch the Solman video and then explain how one can use aggregate demand and supply analysis to explain how fiscal policy helped the United States recover from the Great Depression.

5. Explain the shape of the aggregate supply schedule presented in the Solman video.

6. Explain how to use aggregate demand and supply analysis to depict the onset of the Great Depression.

7. Explain how to use aggregate demand and supply analysis to depict the working of fiscal policy during the Great Depression.

Out-of-Class Activities

1. Find data for real output (real Gross Domestic Product or real Gross National Product) for the 20th century in the United States.  Graph the data and answer the following question.  Do the data show that the Great Depression was different from other recessions that the United States experienced in the 20th century?

2. Find data for the unemployment rate for a period that includes the Great Depression. Graph the data and answer the following question.  Do the data show that the Great Depression was different from other recessions that the United States experienced in the 20th century?

3. Watch the Solman video “Macroeconomics: Fiscal Policy” and use the information from it to write an essay that explains why fiscal policy was necessary during the Great Depression.

Quiz Questions

1. According to the Solman video “Macroeconomics,” the proper remedy for the Great Depression was:

1. A decrease in government spending.

1. A reliance on the self-correction mechanisms built into a free market economy.

1. *An increase in government spending.

1. Controls that kept wages and prices from getting “out of whack.”

2. According to the Solman video, the Great Depression showed that: 

2. Free market economies adjusted quickly to offset the effects of declining demand.

2. Great resource waste resulted from WPA projects.

2. The aggregate supply curve shifts to offset a decrease in aggregate demand.

2. *An increase in G can offset decreases in C and I.

3. According to the Solman video “Macroeconomics,” the onset of the Great Depression is best represented as:

3. An increase in aggregate demand.

3. *A decrease in aggregate demand.

3. An increase in aggregate supply.

3. A decrease in aggregate supply.

4. According to the Solman video “Macroeconomics”:

4. The aggregate demand schedule shows a direct relationship between output and price.

4. The aggregate demand schedule becomes vertical at a certain output level.

4. The aggregate supply schedule shows an inverse relationship between output and price.

4. *The aggregate supply schedule become vertical at a certain output level.

5. Write an essay explaining why fiscal policy could provide a remedy for the Great Depression.  Cite evidence from the Solman video “Macroeconomics” to support your explanation.  Provide examples of the right kinds of fiscal policy from the video.

Macroeconomics: Monetary Policy

The video begins with a recap that explains the aggregate demand and supply diagram and reminds viewers that the previous video showed how fiscal policy was used to raise aggregate demand during the Great Depression.  But now on to monetary policy.

The video turns to the 1960s when hair was long and President Johnson was simultaneously fighting the war on poverty and the war in Vietnam.  Andrew Brimmer, a member of the Federal Reserve Board of Governors at the time, explains that the increases in government spending required to fight the two wars threatened inflation because the economy was operating at capacity.  So, he explains, the Federal Reserve acted to raise interest rates and offset the increases in government demand with decreases in private demand.  

That, explains Paul Solman, is what the Fed does.  Solman gives a brief time line of Fed decisions to raise and lower interest rates.  But how, asks Solman, does the Fed change interest rates?  Using a cartoon for illustration, Solman explains that the Fed lowers interest rates by buying government bonds and thereby making it possible for banks to increase lending.  The Fed raises interest rates by selling government bonds and making it necessary for banks to decrease lending.  Since the interest rate is “the price of money” that is borrowed and lent, buying government bonds lowers interest rates and selling government bonds raises them.

How does the Federal Reserve decide whether to raise rates, lower rates, or leave them unchanged?  The video shows a mock meeting of the Federal Open Market Committee, which decides such matters.  The meeting begins with a staff report in which Josh Feinman, former Fed staffer, forecasts growth of between 3 and 3.5 percent.  Former Board member Nancy Teeters argues that the interest rate should not be raised since there is still unused capacity available in the economy.  Former Board member Lyle Gramley argues for a rate increase suggesting that continued growth of 3.5 percent threatens inflation.  A proposal is made to raise the rate by 25 basis points (25/100 of a percentage point).  The motion carries on a 4-2 vote.

Not all agree that the Fed should engage is such fine tuning of the economy.  Journalist Susan Lee believes that the Fed should set and stick to an inflation target and not try to micro manage the economy.  Solman explains Nobel Laureate Robert Lucas has argued that private citizens can see through what the Fed is trying to do and, effectively, undo it.  But, Solman concludes, the Fed continues its efforts to fine tune.

In-Class Activities

Answer the following discussion questions.  

5. According to the Solman video, what does the Federal Reserve do when it believes inflation will increase?

5. Why was there a threat of inflation in the 1960s?

5. How did the Fed respond?

5. According to Andrew Brimmer, why did Fed action in the 1960's lessen the threat of inflation?

5. According to the video, how much fine-tuning should the Federal Reserve attempt to do?

5. What does the video mean by fine-tuning?

5. Why do some economists believe the Fed should fine-tune the economy? 

5. Why do some economists oppose fine-tuning?

Out-of-Class Activities

1. Go online and find a transcript of Alan Greenspan’s testimony to Congress.  Read the testimony and then write a one-page report in which you explain what Greenspan is saying in light of what you have learned from the Solman video on monetary policy.

2. Watch the Solman video and then write your own detailed explanation of the Federal Reserve cartoon presented in the video that shows what the Fed does to lower and raise interest rates.  Explain the video in detail.  For example, explain the significance of the individuals who are shown riding around a conveyor belt and either accepting or refusing a bag of money.

Quiz Questions

1. According to the Solman video on monetary policy, what is the right way to model a decision by the Federal Reserve to increase the rate of interest?  The decision should be represented by:

1. An increase in aggregate demand.

1. A decrease in aggregate supply.

1. An increase in aggregate supply.

1. *A decrease in aggregate demand.

2. According to the Solman monetary policy video, which of the following best explains how the Federal Reserve lowers the interest rate?  To lower the interest rate, the Fed:

2. Buys government bonds and decreases the ability of banks to lend.

2. Sells government bonds and decreases the ability of banks to lend.

2. *Buys government bonds and increases the ability of banks to lend.

2. Sells government bonds and increases the ability of banks to lend.

3. How are monetary policy decisions made?

3. By vote of Congress after testimony by the Fed Chairman.

3. By the Fed chairman alone.

3. By the Fed chairman after consulting with the Secretary of the Treasury.

3. *By vote of the Federal Open Market Committee.

4. According to the Solman video on monetary policy, the Federal Reserve:

4. Sticks to its inflation target and pays little attention to recessions.

4. Raises interest rates whenever unemployment increases.

4. Lowers interest rates by selling government bonds.

4. *Adjusts interest rates to fine tune the economy.

5. It is the 1960s and Lyndon Johnson is President of the United States.  Write an essay in which you explain monetary policy during the 1960s.  Be sure to explain what the Fed did, the reasons for its actions, and the connection between what the Fed did and policies of the Johnson Administration.  A good essay will make specific reference to information contained in the Solman video on monetary policy.

Productivity: The Bright Side

“Productivity: The Bright Side” introduces the concept of productivity with the help of a 1950s cartoon that features Joe, King of the Workers.  Joe is king because his wages buy more goods than the wages of any other worker in the world.  How did this come to pass?  

The cartoon explains that Joe’s grandpa worked 69 hours a week but had only hand tools available.  Although physically strong by modern standards, Joe himself works with powerful machines that increase his strength and productivity.  

Paul Solman interviews several economists who further explain gains in productivity.  Robert Gordon points out that productivity gains have been the key to our economic growth.  Robert Solow agrees that more and better machines account for some increases in productivity but points out there have also been increases in total factor productivity – the amount of output that a given quantity of capital and labor can produce.  Solow attributes gains in total factor productivity to advances in technology and improvements in the ways we organize our work.  Michael Boskin emphasizes how large an impact productivity increases have had on life in America.  One hundred years ago, he points out, average life expectancy was only 43 years and people typically spent half of their income on food.

Paul Solman showcases a new technological advance in the video – a self-cleaning toilet installed in a gas station along a Chicago interstate highway.  The station manager estimates that the bathroom saves about 14 hours a week.  It works too.  The video shows the cleaning process even removes graffiti.

In-Class Activities

Discuss the following questions.  

1. According to the Solman video, what is the connection between increased productivity and increased quality of life for the typical American worker?

2. Why, according to the video, has worker productivity grown in the United States?

Out-of-Class Activity

1. Download data on “multi-factor productivity” from Fred II, the data source at the Federal Reserve Bank of St. Louis web site (http://www.stls.frb.org).  Graph the data and describe the changes in multi-factor productivity that have occurred in the past 50 years.

Quiz Questions

1. According to the Solman video “Productivity: The Bright Side,” the typical worker is better off than his grandfather because:

1. He is stronger.

2. He works more hours per week.

3. He spends a larger share of his income on nourishing food.

4. *He has more and better tools.

2. Which of the following would Robert Solow agree is a reason that the United States has experienced increases in total factory productivity? The U.S. has:

1. A larger population.

2. A larger share of women in the work force.

3. More capital per worker.

4. *Improved ways of organizing its work flow.

3. In the Solman video “Productivity: The Bright Side,” economist Michael Boskin emphasizes that gains in productivity have had a huge impact on life in the United States.  As the result of productivity gains over the past one hundred years, people today:

1. Spend a larger share of their income on food and have longer life expectancy.

2. Spend a larger share of their income on food and have shorter life expectancy.

3. *Spend a smaller share of their income on food and have longer life expectancy.

4. Spend a smaller share of their income on food and have shorter life expectancy.

4. The Solman video refers to the American worker as “King of the Workers” because the


American worker:

1. Works fewer hours than other workers.

2. Is protected from foreign competition better than other workers.

3. *Earns wages that buy more goods than the wages of other workers.

4. Can expect to work at the same job for decades.

5. Write an essay explaining the connection between productivity increases and increases in the standard of living of the American worker. In the essay, make specific references to information from the Solman video “Productivity: The Bright Side.” 

Productivity: The Dark Side

The video opens with more footage of the 1950s cartoon featuring Joe, King of the Workers. It hints at the dark side of productivity when it points out that the invention of the automobile eliminated the job of carriage-wheel makers like Joe’s grandpa.  It brightly suggests, however, that Joe’s grandpa quickly found a new and better job making “horseless carriages.”  But, Paul Solman warns, it may not work out that way for every worker.

Workers have often opposed technological advances.  To placate glassmakers, Emperor Augustus executed the inventor of a new technique for making glass.  The Luddites in England revolted against the introduction of textile machines.  In 1974, Washington Post pressmen sabotaged new-technology presses that threatened their jobs.  Paul Solman shows that even workers in factories that make new-technology products are worried about the advance of technology.  Wade Whittle, who works in the factory that manufactures the self-cleaning toilet, cautions that workers must be better educated.  Foreman Burt Hanzig says his greatest concern is making sure his four kids can go to college so that they have sufficient education to adapt to changes in technology.

Who wins when technology advances?  Paul Solman explains that low-skill workers tend to lose and high-skill workers tend to win.  Economist Richard Freeman says that a manager’s concern for the survival of his firm will always trump his concern for his displaced workers.  Robert Gordon says this is nothing new.  We take automated elevators for granted now but when they were invented, they displaced elevator operators.  Gordon says the future holds plenty of job opportunities and points to the need for nurses and health care workers who are unlikely to be replaced by robots.  Paul Romer agrees.  He points out that we spend less human time on food production than ever before in our history, and yet we have made good use of the released time.  There is no shortage, he says, of important ways to use human time in the future.

But some workers are displaced and may not be able to easily find new jobs.  Paul Solman visits a broom factory and quickly learns that broom making is skilled labor.  It is skilled but highly specific and workers released from broom making may not easily find new jobs that take advantage of their skills.  Textile jobs are also highly skilled.  It may take years for a worker to learn to get the most out of a textile machine.  But those skills are also specific and may not be transferred easily to other jobs.  In some cases, productivity takes a heavy toll on those it replaces.  It has a dark side.

In-Class Activities

Answer the following discussion questions. 

1. Why, according to the Solman video, does productivity have a dark side?

2. What is wrong with the answer offered by the King Joe cartoon when it shows Joe’s grandpa losing his job as a carriage-wheel maker and quickly finding a new job in a horseless carriage factory?

3. What evidence does the video offer that workers have long been concerned about the dark side of productivity?

4. Why do economists like Richard Freeman, Robert Gordon, and Paul Romer believe that the benefits of productivity outweigh the costs?

5. According to the Solman video, which workers are more likely to benefit from technological advances and which workers are more likely to be hurt by those advances?

6. How, according to the video, can workers in low skill jobs best protect themselves against the dark side of productivity?

Out-of-Class Activities

1. You are a member of the British Parliament in the early 19th century.  The following resolution has been offered. “Because the very livelihood of workers is threatened, no labor saving device or machine shall be used in textile manufacture without the consent of the workers.”  Your instructor will divide you into two groups – those who argue for the resolution and those who oppose it.  Watch the Solman video “Productivity: The Dark Side.” Use it and other resources to prepare your arguments.  Your instructor will announce the date and rules for the in-class debate of the resolution.

2. Search for information about the Luddites.  Write a report in which you explain who the Luddites were, what concerned them, how they acted, and what the Solman video has to say about the success of their opposition to technological advances.

Quiz Questions

1. Which of the following best describes what the Solman video means by the “Productivity: The Dark Side”?  Advances in productivity:

1. Often expose workers to toxic chemicals.

2.  Lower average wages.

3. *Displace workers who may have trouble finding a new job.

4. Make the workplace less human.

2. According to “Productivity: The Dark Side” workers at the self-cleaning toilet factory:

1. *Believe that education is the key to avoiding the dark side of productivity.

2. Are not concerned about advancing productivity.

3. Expressed concern that the toilet manufacturing process exposed them to unsafe chemicals.

4. Were sorry that their new toilet displaced workers at gas stations.

3. To avoid the “Productivity: The Dark Side” the Solman video recommends that workers should:

1. Work in a high technology industry.

2. Work in an industry that requires very specific skills.

3. Learn to operate valuable machinery.

4. *Learn to adapt to an ever-changing work environment.

4. In the Solman video on the “Productivity: The Dark Side,” economists Robert Gordon and Paul Romer:

1. Agree that robots will eventually replace health care workers.

2. *Suggest that the economy is constantly creating new jobs.

3. Express sorrow that technology has made many crafts obsolete.

4. Are concerned that technology is advancing too rapidly.

5. Write an essay in which you explain what the Solman video means about the dark side of productivity and why economists like Robert Gordon and Paul Romer believe that the benefits of advances in productivity outweigh the costs.

The International Monetary Fund: A Case Study

Jamaica is a very poor nation and a client of the International Monetary Fund.  In this video, Paul Solman tries to answer the very difficult question “Would Jamaica have been better off without the IMF?”

The Bretton Woods New Hampshire conference in 1944 created the IMF and the World Bank.  The mission of the World Bank was to make loans to needy countries.  The original mission of the IMF was to spur trade by managing international exchange rates.  In recent decades, the role of the IMF has evolved so that it is now a sort of lender of last resort for troubled economies like Jamaica.  IMF loans come with strings attached.  Borrowing nations are required to encourage exports, discourage imports, curb money growth and inflation, privatize state industries, cut government spending and deficits, and repay their debts. Richard Erbe of the IMF explains that reforms in Jamaica are designed to increase growth in Jamaica and, thus, to provide long run answers to poverty.

Jamaica is hard pressed to repay its IMF loans.  About 50 percent of current government expenditures are debt repayment.  But without debt repayment, the IMF will not have funds available to help other nations in crisis. IMF reforms are intended, in part, to insure that countries will repay their loans.

Repaying IMF loans is controversial.  On one side of the argument is Jamaican Mutabaruka who raps that the IMF represents repression.  West Indies economist Michael Witter teaches that IMF debt is a mechanism that foreigners use to control Jamaica.  Monsignor Richard Alpert points out that bare survival is the name of the game for the poor.  To repay its debt, the government has reduced desperately needed social services.  Clearly, many believe that IMF reforms have been too costly to Jamaica.

There is another side to the argument.  Jamaican Butch Stewart supports privatization.  He took over the Sandals Resort from the government and made it profitable.  It now employs 200 Jamaicans including Lebert Bernard, a member of the wait staff who believes his job has taught him much of value and who aspires to running his own company that will employ other Jamaicans.  Former IMF economist Kenneth Rogoff points out the IMF faces a difficult problem when it finds a state run industry that is hemorrhaging money.  Shutting down the industry costs jobs but improves the government budget.  Often, Rogoff says, a government looks to the IMF for political cover.  It accepts a loan and then blames the IMF for imposing reforms that the country itself knew all along were necessary.

At the end of the day, the question is unanswered.  Decades after its first IMF loans, Jamaica is poorer than it was before.  But why?  Would Jamaica have been better off without assistance from the IMF.  It is not clear.

In-Class Activities

Answer the following discussion questions.  

1. What, according to the Solman video, are the costs and benefits to a country of assistance from the International Monetary Fund?

1. What is the IMF?  What is its mission?

1. How do countries like Jamaica become involved with the IMF?

1. What reforms does the IMF require as a condition for assistance?

1. Why do some believe that IMF assistance has hurt Jamaica more than helped it?

1. In what ways has the IMF made Jamaica better off?

Answer the following discussion question.  

1.
In the Solman video “Pareto Optimality,” economist Cecilia Conrad explains that economic efficiency is not the same thing as fairness.  How does Conrad’s point apply to the question of IMF assistance to Jamaica? 

Out-of-Class Activities

1. Research the relationship between Jamaica and the IMF.  On source of information is the IMF web site www.imf.org/external/country/jam/index.htm.   Combine information from the Solman video and the results of your research in an essay entitled “Jamaica: Costs and Benefits of IMF Assistance.”

2. Resolved: Jamaica shall suspend repayment of its IMF debts.  Your instructor will divide your class into two teams.  The "For" team is in favor of the resolution, the “Against” team opposes it.  Watch the Solman video and then meet with team mates to plan for an in class debate on the resolution.  The video is just a starting point.  Teams are expected to conduct further research to prepare for the debate.  If your class is large, the instructor may create several "For" and "Against" teams run several debates simultaneously.

Quiz Questions

1. According to the Solman video “The IMF:  A Case Study,” which of the following is not a reform imposed by the IMF on nations that borrow from it?

1. Lowering Imports.

1. Cutting government spending.

1. Privatizing state industries.

1. *Lowering exports.

2. According to the Solman video “The IMF: A Case Study,” which of the following has been a cost to Jamaica of accepting IMF assistance?

2. Privatization of resort hotels that has lowered employment.

2. Forcing Jamaicans to buy foreign products even though they prefer their own.

2. *Repaying IMF loans with funds that could be used to help the poor.

2. Driving rural Jamaicans into the cities.

3.  According to the Solman video “The IMF: A Case Study,” which of the following has been a benefit to Jamaica of accepting IMF assistance?

3. *Privatization of resort hotels that has raised employment.

3. Forcing Jamaicans to buy foreign products that they prefer their own.

3. Repaying IMF loans with funds that were formerly wasted on the poor.

3. Forcing rural Jamaicans to live in cities where it is less costly to assist them.

4. According to the Solman video “The IMF: A Case Study,” the role of the IMF was originally different than it is today.  Which of the following correctly describes the original and the current roles of the IMF?

4. *Originally, the IMF managed international exchange rates.  Today it is a lender of last resort.

4. Originally, the IMF made loans to needy countries.  Today, it attempts to control needy countries.

4. Originally, the IMF made loans with very tough conditions.  Today, it makes loans with fewer conditions.

4. Originally, the IMF made loans to needy countries.  Today, it manages exchange rates.

5. Write an essay on the costs and benefits to Jamaica of accepting assistance from the IMF.  A good essay will cite evidence from the Solman video “The IMF: A Case Study.”
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